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A PR

KRS JFUK 24

K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
k| 165 21.2| 24.6| 23.0] 28.1| 26.1| 20.6| 16.3| 11.9 8.7 10.9| 14.8] 28.1
KR (C) /| 116 15.8]  19.8| 20.0| 22.3] 19.9| 15.4| 12.1 6.6 5.4 6.5 8.5 5.4
g | 13.3 18.8| 21.8| 21.5| 26.0] 23.3] 18.1| 14.3 9.4 6.9 8.1 11.6| 16.1
B 120 11 31 87 8.8 92 10 2.9 3.4 2.3 28 16 120
il (%) 2/ 1.5 3.5 3.5 4.5 3.8 4.9 2.5 1.7 1.1 1.3 1.5 2.7 1.1
S 8.6 6.0 13 12 5.7 11 4.4 2.3 2.1 1.7 3.9 6.3 6.4
| 8.200 7.55| 7.47| 7.51| 7.47| 7.59| 7.76| 7.77| 7.6 7.75|  7.72| 7.63| 8.20
p Hf& /N 718 731 7.23| 716  7.25|  7.28| 7.41| 7.42| 7.41| 7.48| 7.39| 7.27| 7.16
Sty | 7.57| 7.42| 7.37|  7.40| 7.38| 7.44| 7.52| 7.55| 7.54| 7.58 7.60| 7.47| 7.48
R 12 11 18 16 9 15 12 5 4 4 14 15 18
i (%) 2/ 3 4 4 4 4 3 3 3 3 3 3 4 3
S 5 6 8 6 5 5 5 4 4 4 4 6 5
S Gl mR| 155 9.0| 14.8] 19.8 7.7 12.4 8.8 2.8 2.3 2.7 11.4| 11.3] 19.8
B U g B (mg/L) e/ 2.2 3.2 3.1 3.3 3.2 3.3 2.0| <0.5 1.3 1.5 1.8 2.0| <0.5
S 3.6 4.3 6.8 6.2 4.3 5.5 3.4 2.1 1.8 1.9 2.8 4.4 3.9
i (ST R 1.1 1.6 1.8 1.7 1.1 1.3 0.8 0.7 0.6 0.7 1.8 1.2 1.8
(TOoC) ol e/ 2 0.8 0.9 1.0 1.0 0.8 0.7 0.6 0.6 0.5 0.5 0.6 0.7 0.5
S 0.9 1.2 1.2 1.3 0.9 0.9 0.7 0.6 0.6 0.6 1.0 0.9 0.9
k| 10.6] 110 10.3 8.2 11.1 9.2| 10.3| 11.9| 12.4| 13.7| 14.3| 13.8] 14.3
WA 4 (mg/L) e 4.4 7.3 3.8 2.7 4.6 4.2 6.4 8.7 10.1| 10.6 8.8 5.2 2.7
S 8.3 9.2 7.5 6.3 7.9 7.5 8.6/ 10.1| 11.3] 12.5| 12.7| 10.2 9.3
o LN <1 <1 3 <1 4 1 <1 2 3 6 3 2 6
i;ii”wymw‘ oe/D) |8 a a a a 1 a a a a 2 1 a a
S <1 <1 <1 <1 2 <1 <1 1 2 4 2 <1 1
BR 1 1 5 2 9 4 4 4 1 2 2 2 9
A AIV (ng/L) e/ <1 <1 <1 <1 2 <1 1 1 <1 <1 1 <1 <1
S <1 <1 2 1 5 2 2 2 <1 <1 2 1 2
| 39.2]  40.5| 40.8| 39.5| 44.3| 40.0| 42.0| 42.4| 42.6| 42.5| 42.0| 41.0| 44.3
W7ol (mg/L) /N 2003 33.0] 25.7 21.8| 33.3] 24.3| 33.8 40.3| 40.1| 39.7| 34.7| 24.7| 20.3
S| 33.3] 36.5|  35.5| 34.2| 39.7| 36.4| 39.2| 41.4| 41.4| 41.1| 39.5| 35.4| 37.8
BR 13 13 28 28 12 18 9 5 5 3 17 14 28
FilEWE (mg/L) B/l 2 5 7 9 6 9 6 3 2 1 2 4 1
S 6 9 18 15 9 11 7 4 3 2 7 9 8
BR 2.4 3.7 4.3 3.7 2.9 2.8 1.8 1.6 1.8 1.8 4.2 2.6 4.3
COD (mg/L) e/ 1.8 2.2 2.1 2.6 1.9 1.8 1.5 1.4 1.1 1.5 1.6 1.5 1.1
S 2.1 2.8 3.1 2.9 2.3 2.4 1.6 1.5 1.4 1.7 2.4 2.2 2.2
B 169 173 170 155 173 159 169 180 185 192 194 185 194
ERREF (uS/em) | fxe/IN 93 139 98 85 130 103 136 169 178 182 155 121 85
S 148 157 145 136 157 147 160 174 181 187 184 163 161

KRS RFK

EZTIVIS A 4 5 6 7 8 9 10 11 12 1 2 3 AR
| 16.4] 21.9 24.8) 23.3| 28.5| 26.3| 21.0| 16.6| 12.4 8.9 10.9] 15.0| 28.5
KR (C) /AN 12,20 16.2| 20.3| 20.1| 22.6] 20.3| 16.1| 13.0 7.1 5.8 7.0 8.8 5.8
Sy | 13,7 19.3| 22.1| 21.7| 26.3| 23.6| 18.5| 14.7 9.8 7.3 8.5 11.9| 16.5
| 7.46| 7.30| 7.26| 7.13| 7.14| 7.03| 7.46| 7.42| 7.34| 7.36| 7.38| 7.42| 7.46
p Hf& /| 6.69] 7.0l 6.84| 6.69| 6.94| 6.59| 6.93| 7.24| 7.19| 7.20| 6.94| 6.66| 6.59
Sy | 7022 7.19| 7.01  7.00[ 7.03| 6.95| 7.22| 7.34| 7.26| 7.27| 7.24| 7.16| 7.16
B 175 180 184 164 184 169 174 187 193 200 200 193 200
BERRE R (uS/em) | Fesls 127 153 129 130 142 134 156 174 185 188 183 142 127
S 157 166 159 148 167 160 167 179 188 194 193 174 171
B 1.8 1.1 2.1 2.0 2.2 2.2 1.6 0.6 0.5 0.4 1.0 1.6 2.2
PR (mg/L) e/ 0.4 0.4 0.5 0.6 0.8 0.5 0.4 0.4 0.2 0.2 0.2 0.3 0.2
S 0.6 0.7 1.0 0.9 1.0 1.0 0.6 0.5 0.3 0.3 0.4 0.5 0.6
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KA TEBoOK A Fn24FE i

TN A 4 5 6 7 8 9 10 11 12 1 2 3 AR
KA 16.6| 22.2| 25.2| 23.7| 28.8] 26.6| 21.4| 16.5] 12.5 9.1| 11.0] 15.1] 28.8
kiR (C) AN 12,2 1701 20.6) 20.3] 22.5| 20.8] 16.5| 12.9 7.3 5.9 7.2 9.0 5.9
Ery | 14.0|  19.5| 22.4| 21.9] 26.7| 23.9| 18.8 14.8 10.0 7.5 8.6| 12.1| 16.7
BAR| <01 <o.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1 0.1| <0.1| <0.1 0.1 0.1
tiali s (s BN <001 <01 <01 <o.1| <o.1| <0.1| <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <o.1|  <0.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <0.1| <o0.1| <0.1
RAK| 7.56| 7.40| 7.40| 7.22| 7.24| 7.17| 7.50| 7.51| 7.44| 7.44| 7.42| 7.43| 7.56
p HAE B/AN| 6.84| 7.05| 6.88 6.79| 7.05| 6.60| 7.03| 7.35| 7.23| 7.28] 6.99| 6.82| 6.60
Sy | 7.30|  7.30|  7.14| 7.10| 7.14| 7.06| 7.31| 7.43| 7.35| 7.34| 7.30| 7.24] 7.25
i ) IS ON 1.3 1.5 1.5 1.4 1.6 1.5 1.7 1.1 1.0 1.0 1.2 1.5 1.7
g%?%jg;%f/ (mg/L) B2 N 0.7 1.0 0.8 0.7 0.9 0.7 0.7 0.6| <0.5 0.7 0.6 0.8] <0.5
) 1.1 1.2 1.2 1.0 1.1 1.0 1.1 0.9 0.6 0.8 0.8 1.1 1.0
) IS ON 0.6 0.6 0.7 0.6 0.7 0.5 0.7 0.5 0.4 0.4 0.5 0.6 0.7
ﬁﬁ?? C()/ﬂgg’)’%* (mg/L) B/ 0.5 0.5 0.4 0.4 0.5 0.3 0.5 0.4 0.3 0.3 0.3 0.4 0.3
) 0.6 0.6 0.6 0.5 0.6 0.4 0.6 0.4 0.3 0.4 0.4 0.5 0.5
&A| 39.1| 35.6| 36.4| 31.0| 33.7| 28.6| 38.2| 39.5| 38.7| 37.9| 37.6| 37.3] 39.5
BTk g (mg/L) /AN 142 26.6| 20.4| 16.3] 24.6| 13.0| 15.6| 36.3| 36.0] 35.6] 26.2| 18.1] 13.0
SEry | 29.0( 31.8| 28.3] 26.0| 29.5| 25.7| 32.1| 37.5| 37.3| 36.8 34.9| 30.7| 31.6
PN 0.3 0.2 0.3 0.3 0.5 0.3 0.2 0.3 0.3 0.2 0.2 0.2 0.5
TR TR (mg/L) E52N 0.1 0.1| <0.1] <o0.1 0.1 0.1 0.1 0.1 0.1 <0.1 0.1 <0.1| <o0.1
) 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.2 0.2 0.2

KFHARE W AiRK

1 AiEK H 4 5 6 7 8 9 10 11 12 1 2 3 G|
KA 16.3] 22.2| 25.6| 23.8] 29.2| 27.3| 21.8] 16.8] 12.9 9.5 11.2| 15.6] 29.2
kiR (C) AN o12.2] 1701|2101 2009 22.9| 21.4 17.0] 13.3 7.7 6.1 7.6 9.2 6.1
Ery | 14.0| 19.6| 22.7| 22.4| 27.1| 24.5| 19.2| 15.1| 10.3 7.8 8.9 12.3| 17.0
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <o.1| <o.1| <o.1| <0.1 <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1
&AK| 7.63| 7.63| 7.65| 7.47| 7.55| 7.47| 7.71| 7.67| 7.61| 7.57| 7.56| 7.57| 7.71
p HAE /AN To01| 741 718 7.13| 7.36| 7.06| 7.07| 7.36| 7.35| 7.44| 7.24| 7.18] 7.01
¥y | 7.48| 7.55| 7.43| 7.41| 7.45| 7.39| 7.54| 7.61| 7.53| 7.51| 7.47| 7.44| 7.48
i ) IS ON 1.3 1.3 1.3 1. 1.3 1.4 1.7 1. 0.9 0. 1.3 1.3 1.7
g%?%jg;%f/ (mg/L) B/ 0.6 0.8 0.7 0.5 0.8 0.6 0.7 0.5 <0.5 0.5 0.6 0.8] <0.5
) 1.0 1.1 1.0 0.9 1.0 0.9 1.0 0.8 0.5 0.7 0.8 1.0 0.9
) PN 0.6 0.6 0.6 0.5 0.7 0.5 0.6 0.5 0.3 0.4 0.6 0.6 0.7
ﬁﬁ?? C()/ﬂgg’)’%* (mg/L) B/ 0.5 0.6 0.4 0.4 0.5 0.3 0.4 0.3 0.3 0.3 0.3 0.4 0.3
) 0.6 0.6 0.5 0.5 0.6 0.4 0.5 0.4 0.3 0.4 0.4 0.5 0.5
o IS FN <1 <1 <1 <1 1 <1 <1 3 2 2 2 1 3

Zzlii’w I gy | al al al al Al Al ol al o« | al ol «a
bS] <1 <1 <1 <1 <1 <1 <1 1 <1 2 <1 <1 <1

ek <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1 1

VAR (ng/L) BN <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
bS] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
ek 0.6 0.5 0.7 0.6 0.7 0.6 0.5 0.5 0.7 0.5 0.5 0.8 0.8
TR TR (mg/L) 52N 0.4 0.4 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.3 0.3 0.4 0.3
) 0. 4 0.4 0.4 0.5 0.5 0.5 0.4 0.5 0.4 0.4 0.4 0.4 0.4

191




KFHAREE  KFEK N4

#Hek A 4 5 6 7 8 9 10 11 12 1 2 3 £
BA| 155 21.0| 24.4| 23.2| 28.1| 27.6| 21.4] 17.0] 13.3 9.5 11.3| 14.8] 28.1
KR (C) BN 119 16.2| 20.8] 20.7| 22.2| 21.3| 17.2| 13.8 8.2 6.8 7.8 9.0 6.8
Sy | 13,9 19.0) 22.1 22.1| 26.2 24.4| 19.2| 15.5| 10.8 8.2 9.1| 12.0| 16.9
BAR| <1 <o.1| <o.1 <o.1 <0.1 <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <o.1
VB () BN <001 <01 <01 <001 <001 <0.1]  <0.1] <0.1| <0.1| <0.1| <0.1| <0.1] <o.1
Ery | 0.1 <0.1|  <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1
k| 7.65| 7.66| 7.69| 7.53| 7.58| 7.54| 7.71| 7.68| 7.62| 7.59| 7.59| 7.59| 7.71
p HfK RN 7.200 7049 7.29|  7.18|  7.42| 7.24 7.27| 7.55| 7.46| 7.43| 7.26| 7.20| 7.18
Sty | 7052 7.59|  7.48|  7.44| 7.50| 7.43| 7.55| 7.62| 7.54| 7.52| 7.50| 7.47| 7.51
5N 0 0 0 0 0 0 0 0 0 0 0 0 0
REN;- (%) B/ 0 0 0 0 0 0 0 0 0 0 0 0 0
) 0 0 0 0 0 0 0 0 0 0 0 0 0
i ) 5N 1.2 1.4 1.2 1.2 1.3 1.0 1.3 0.9 0.9 0.9 1.1 1.3 1.4
g*ﬁf)@%;gééf/ (mg/L) e/ 0.5 0.8 0.8 0.5 0.8 0.6 0.7| <0.5| <0.5 0.5 0.6 0.6| <0.5
A 0.9 1.0 1.0 0.8 0.9 0.8 0.9 0.7| <0.5 0.6 0.7 0.9 0.8
5N 0.6 0.6 0.5 0.5 0.6 0.5 0.6 0.5 0.3 0.4 0.6 0.5 0.6
ﬁ(%ﬁ%*o@ é;ﬁﬁg)ﬁi (mg/L) e/ 0.5 0.6 0.5 0.4 0.5 0.3 0.4 0. 4 0.3 0.3 0.3 0.4 0.3
Sy 0.5 0.6 0.5 0. 4 0.5 0. 4 0.5 0. 4 0.3 0.3 0.4 0.5 0.5
x| 1721 16,0 18.7| 15.2| 15.1| 16.8| 16.7| 15.2| 16.5| 18.3| 20.2| 18.6 20.2
HAemmA A (mg/L) RN o10.00 12,4 1101 9.5 9.3 10.7| 10.5| 11.7| 13.6| 14.0| 15.4| 12.5 9.3
Sy | 13,0 1400 1401 11.2] 12.3| 12.8| 12.1| 13.6| 15.2| 16.4| 17.3| 15.3| 13.9
B Bl L BERL] Bl BEAL| BEll| BEAL| BEll| BEAL| BEL| ZEAL| BElel| &AL BEiLL
SO 2 1 1 1 1 1 1 1 1 1 1 1 2
BEME (TON) e/ 1 1 1 1 1 1 1 1 1 1 1 1 1
RE) 1 1 1 1 1 1 1 1 1 1 1 1 1
e Bl L BERL] Bl EEAL| BEll| BEAL| BEll| BEAL| BEieL| ZEAL| BElel| &L BEiLL
o K < <1 <1 <1 1 <1 <1 3 1 2 1 1 3
i;ii’w L O B N a a A a a a a a a a a a a
RIS <1 <1 <1 <1 <1 <1 <1 <1 <1 2 <1 <1 <1
fSUN <1 <1 <1 <1 <1 <1 <1 1 <1 <1 <1 <1 1
VA AI v (ng/L) o/l <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
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BR 0.8 0.9 1.0 0.9 1.1 1.1 0.8 0.8 0.7 0.6 0.6 0.7 1.1
PRERH TR (mg/L) /s 0.6 0.8 0.9 0.8 0.9 0.8 0.7 0.7 0.5 0.5 0.5 0.6 0.5
REa) 0.7 0.9 0.9 0.9 1.0 1.0 0.8 0.8 0.6 0.5 0.6 0.6 0.8
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&AK| 7400 7.32| 7.44| 7.32| 7.39| 7.48| 7.51| 7.56| 7.57| 7.51| 7.46| 7.50| 7.57
p HA# BN 704 714 7.08) 6.99] 7.09| 7.10| 7.02| 7.28| 7.42| 7.36| 7.22| 7.19] 6.99
Py | 7.28|  7.24| 7.29| 7.21| 7.32| 7.40| 7.40| 7.47| 7.49| 7.44| 7.41| 7.38] 7.36
PN 11 12 14 24 12 18 12 8 10 16 24
o (g 52N 5 9 9 8 9 8 6 5 5 5 5 6 5
SEH 7 10 10 10 10 10 8 6 6 6 7 8 8
i ) k| 116 18.4| 13.9| 19.5| 14.4| 23.1| 21.5 6.2 4.6 9.2| 15.3| 28.4| 28.4
g%?%jg;%f/ (mg/L) B/ 3.0 4.3 3.3 3.7 4.6 5.0 3.3 3.0 2.4 2.5 3.1 3.6 2.4
Sty 4.8 7.1 7.9 7.3 6.4 7.7 6.1 3.8 3.2 3.6 4.3 6.4 5.7
) PN 1.5 2.5 3.0 2.0 1.9 2.2 1.3 1.5 1.1 1.4 1.8 2.7 3.0
ﬁ%ﬁ?é?ﬁg’)ﬁi (mg/L) B/ 1.0 1.8 1.8 1.4 1.4 1.6 1.0 1.0 1.0 1.0 1.3 1.3 1.0
RiS5) 1.2 2.1 2.3 1.6 1.7 1.8 1.2 1.2 1.0 1.2 1.5 1.6 1.5
IS FN 7.6 9.0 9.4 7.0 8.8 8.8 8.4 8.7 9.0| 20.3] 13.9 9.4 20.3
A A (mg/L) /)N 4.4 4.4 4.4 2.2 5.1 4.3 3.7 5.9 6.5 6.4 6.8 3.1 2.2
Sty 5.9 6.8 6.9 5.5 6.8 7.0 6.3 7.1 7.6 8.2 7.9 7.5 7.0
o PN 3 3 2 5 4 2 1 2 4 4 3 6 6
Zzlii’wmﬁ’m\ mg/l) | gon ol A < a 2 1 1 1 2 2 2 1 <
Sty 3 2 <1 2 3 2 1 2 2 3 2 3 2
PN 2 7 11 9 11 13 5 3 3 4 4 5 13
VA AI v (ng/L) ES2N 2 3 3 4 7 5 3 2 1 3 3 2 1
Sty 2 4 6 6 9 9 4 2 2 3 4 3 5
BAR| 37.7| 41.6| 45.7| 42.1| 48.0| 46.4| 46.0| 45.8| 45.2| 47.7| 46.8| 45.5| 48.0
BTk g (mg/L) BN o214 2701 295 225 34.7| 27.5| 24.1| 41.0| 41.8] 40.3| 26.7| 19.9] 19.9
SEry | 33.1|  35.4| 39.6| 35.3| 44.3| 43.4| 41.6| 43.9| 43.8| 43.4| 43.0| 40.5| 40.6
PN 10 21 34 21 12 14 10 6 4 7 8 13 34
FUEE (mg/L) 52N 5 7 8 8 6 9 5 3 2 2 2 6 2
) 7 11 15 12 9 11 7 4 3 4 4 9 8
ek 3.1 5.1 6.6 4.0 3.4 4.0 2.8 2.5 2.3 2.9 3.5 7.0 7.0
COD (mg/L) B/ 1.8 2.4 3.0 2.3 2.6 2.7 1.3 1.8 1.5 1.7 2.4 2.3 1.3
Sty 2.4 3.7 4.5 3.0 3.0 3.3 2.3 2.1 2.0 2.3 2.9 3.6 2.9
IS ON 156 167 175 154 169 173 175 179 186 217 194 187 217
AR (uS/em) | fx/h 99 105 111 83 124 113 99 154 160 166 152 87 83
Sty 141 146 152 130 153 161 155 162 168 177 176 166 157

TEE)EKS  IRAK
HEZAIVN H 4 5 6 7 8 9 10 11 12 1 2 3 £EF]
k| 145 20.0 23.3| 22.4| 26.2| 24.8 19.5| 16.0| 10.0 7.4 8.9| 14.0| 26.2
kiR (C) ES2N 9.6/ 15.1| 19.4| 19.3| 21.7| 17.8| 12.8 9.4 3.1 1.8 3.5 6.0 1.8
Sy | 117 17.6|  21.1| 20.9| 24.6| 22.3] 16.8] 12.3 6.7 4.3 5.7 10.3] 14.6
KR 122 716 721 716 7.23| 7.42| 7.33| 7.32| 7.32| 7.25| 7.24| 7.28| 7.42
p HfE B/AN| 6.63] 6.83 6.77| 6.63] 6.88| 6.8 6.69| 7.08] 7.11| 7.00| 6.85| 6.73] 6.63
SEry | 7.03| 7.04| 7.08| 6.98] 7.16| 7.19| 7.15| 7.24| 7.23| 7.15| 7.14| 7.09] 7.12
IS ON 162 175 182 161 174 186 187 186 190 223 201 196 223
ARG (uS/em) | fx/h 114 124 123 100 139 134 119 162 166 178 163 117 100
Ris5) 150 156 161 140 162 170 164 169 176 186 185 176 166
PN 1.4 1.9 1.7 1.6 2.0 2.1 1.5 1.4 1.2 1.2 1.4 1.5 2.1
TR TR (mg/L) E52UN 0.8 0.9 1.0 0.8 1.1 0.9 0.8 0.7 0.7 0.7 0.7 0.8 0.7
Sty 0.9 1.1 1.3 1.1 1.3 1.3 1.0 0.9 0.8 0.9 0.9 1.0 1.0
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HEEREDNIRE 7/ X7 B W S A Fn24FE i
TN A 4 5 6 7 8 9 10 11 12 1 2 3 AR
&R 152 20.1| 23.7| 22.5| 26.5| 25.2| 19.8] 16.3| 10.1 8.0 9.3| 14.5| 26.5
kiR (C) BN 1000 155 19.5| 19.5| 21.8| 18.3| 13.6| 10.2 3.9 2.7 4.8 7.0 2.7
Ery | 12,1 18.0|  21.4| 21.0| 25.0| 22.7| 17.2| 12.9 7.3 5.1 6.6| 10.9| 15.1
PN 0.3 0.2 0.2 0.2 0.2 0.2 0.4 0.2 0.2 0.2 0.2 0.2 0.4
tiali s (s B/ 0.2 0.1] <0.1| <0.1| <0.1] <0.1 0.1 0.1 0.1 0.1 0.1 0.2] <0.1
) 0.2 0.2 0.1 0.1 0.1 0.1 0.2 0.1 0.2 0.2 0.2 0.2 0.2
KA 725 721 729 7.22| 7.32| 7.36| 7.37| 7.40| 7.36| 7.29| 7.27| 7.31] 7.40
p HAE B/AN| 6.76] 6.87| 6.83 6.73| 6.92| 6.93| 6.84| 7.17| 7.15| 7.04| 6.87| 6.79] 6.73
¥y | 7.05|  7.10| 7.15| 7.06| 7.21| 7.24| 7.22| 7.30| 7.27| 7.19| 7.17| 7.14] 7.17
i ) ek 2.2 3.0 4.3 2.1 4.2 3.9 3.6 2.5 1.8 2.5 3.7 3.7 4.3
g%?%jg;%f/ (mg/L) B/ 1.2 1.1 1.6 1.3 1.5 1.7 1.1 1.2 1.0 0.9 1.1 1.3 0.9
) 1.5 2.4 2.7 1.7 2.3 2.4 1.8 1.5 1.4 1.3 1.6 2.0 1.9
) PN 0.9 1.4 1.7 1.1 1.4 1.4 0.9 1.0 0.9 1.0 1.1 1.5 1.7
ﬁ%ﬁ?é?ﬁg’)ﬁi (mg/L) B2 N 0.7 1.3 1.2 0.8 1.0 1.1 0.7 0.7 0.7 0.7 1.0 0.9 0.7
) 0.8 1.4 1.5 0.9 1.2 1.2 0.8 0.8 0.8 0.9 1.0 1.0 1.0
BA| 331 37.2| 40.8] 37.9| 43.0| 42.6| 42.8| 41.9| 40.7| 41.0| 41.4| 39.8] 43.0
BTk g (mg/L) BN o14.7) 219 22,00 152 28.2| 21.7| 17.9| 36.8| 36.8] 33.0] 18.9| 18.0| 14.7
SEry | 27.4|  30.8| 34.7| 30.6] 39.5| 38.1| 36.2| 39.4| 38.9| 37.1| 37.0| 34.4] 35.3
PN 1.2 0.9 1.1 1.2 1.4 1.2 1.1 1.0 0.9 0.9 0.9 0.9 1.4
TR TR (mg/L) 52N 0.5 0.5 0.6 0.5 0.6 0.5 0.5 0.5 0.5 0.5 0.5 0.4 0. 4
) 0.6 0.6 0.7 0.7 0.8 0.7 0.7 0.6 0.6 0.6 0.6 0.6 0.6

TEE)IEAKS 1 AIEK
1 AiEK H 4 5 6 7 8 9 10 11 12 1 2 3 G|
A 157 20.3] 24.1| 22.6| 27.0| 25.5| 20.2| 16.3] 10.2 8.2 10.0| 14.6] 27.0
kiR (C) BN 1001 156 19.8| 19.6| 22.0| 18.5| 13.8| 10.2 3.9 2.8 4.5 7.2 2.8
Ery | 12,4 18.4| 21.6| 21.2| 25.2| 22.9] 17.3| 12.9 7.4 5.1 6.8 11.2| 15.2
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <o.1| <o.1| <o.1| <0.1 <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1
RAR| 7.30] 7.29| 7.33| 7.26| 7.36| 7.43| 7.42| 7.46| 7.40| 7.31| 7.31| 7.37| 7.46
p HAE H/AN| 6.81| 6.95| 6.87| 6.88 6.99| 7.11| 7.00| 7.22| 7.21] 7.06| 6.89| 6.89] 6.81
Sy | 7.1 7.17| 7.20) 7.11| 7.26| 7.29| 7.28| 7.35| 7.31| 7.22| 7.200 7.19] 7.22
i ) PN 2.0 2.9 3.8 2.0 4.0 3.8 3.5 1.9 1.6 2.1 3.3 3.1 4.0
g%?%jg;%f/ (mg/L) B/ 1.0 1.0 1.4 1.1 1.4 1.6 1.1 1.1 0.9 0.9 1.1 1.1 0.9
) 1.4 2.2 2.5 1.5 2.2 2.2 1.7 1.4 1.2 1.2 1.5 1.8 1.7
) PN 0.9 1.4 1.6 1.1 1.4 1.3 0.9 1.0 0.8 0.9 1.2 1.4 1.6
ﬁ%ﬁ?é?ﬁg’)ﬁi (mg/L) B/ 0.7 1.3 1.1 0.7 1.0 1.1 0.7 0.7 0.6 0.7 0.9 0.8 0.6
) 0.8 1.4 1.4 0.9 1.2 1.2 0.8 0.9 0.7 0.8 1.0 1.0 1.0
o PN 2 3 2 4 2 2 <1 1 <1 1 2 2 4
Zzlii’w I gy | of ]l al o« of  «al  al  al al al al ol «a
) 2 1 <1 2 2 <1 <1 <1 <1 <1 <1 <1 <1
PN 2 4 6 7 9 8 4 2 2 3 4 3 9
DES N (ng/L) BN 2 <1 3 3 6 4 2 1 <1 <1 2 2 <1
) 2 3 4 4 8 6 3 2 <1 2 3 3 3
IS ON 0.8 0.6 0.8 0.7 0.8 0.7 0.7 0.6 0.6 0.7 0.6 0.6 0.8
TR TR (mg/L) 52N 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0. 4 0.4 0. 4
) 0.5 0.4 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
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MEREIRG S~ R VALY BN

RLIRTEPE R ALER K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
k| 16.7| 21.5| 24.6| 24.0] 27.2| 26.2| 20.2| 17.0| 11.2 8.7 11.2| 15.6| 27.2
pisih (C) /AN 113 16.8) 20.1|  20.1| 22.4] 19.2| 14.5| 11.2 5.2 3.5 .2 9.1 3.5
Sy | 13.6|  19.4| 22.1| 21.7| 25.6| 23.4| 17.9| 13.7 8.3 6.0 .3 12.6| 16.1

| <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1

il (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 <0.1]  <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
W] 7,19 7.09| 7.40| 7.09| 7.32| 7.31| 7.32| 7.54| 7.42| 7.35| 7.33| 7.23| 7.54
p Hf& /| 6.85| 6.86| 6.89] 6.87| 6.99| 7.08| 6.96| 7.18| 7.20| 7.05| 7.05| 6.99| 6.85
Sy | 7.03] 6.97|  7.05| 6.99| 7.11| 7.17| 7.17| 7.30] 7.28| 7.21| 7.16| 7.12| 7.13
S G R 0.7 1.0 1.3 0.8 1.3 1.2 1.2 0.9 0.7 0.8 0.7 1.1 1.3
B U g ) (mg/L) /AN 0.5 <0.5 0.6| <0.5 0.5 0.6 0.5 <0.5| <0.5| <0.5| <0.5| <0.5| <0.5
S| <0.5 0.6 1.0 0.6 0.9 0.9 0.8 0.6| <0.5| <0.5| <0.5 0.6 0.6
i (SRS BR 0.3 0.6 0.9 0.5 0.7 0.6 0.5 0.6 0.4 0.3 0.5 0.4 0.9
(TOC) i) (mg/L) AN <03 0.4 0.7 0.4 0.7 0.5 0.4 0.3 0.3 <0.3| <0.3] <0.3] <0.3
S| <0.3 0.5 0.8 0.5 0.7 0.6 0.4 0.4 0.4| <0.3 0.4 0.3 0.4

o LN <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
i;ii”wymw‘ oe/D) | Bn a a a a a a a a a a a a a
hiA5] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

BR <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

A AIV (ng/L) e/ <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
hiA5] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

AR K

K A 4 5 6 7 8 9 10 11 12 1 2 3 AR

Wkl 16.5| 21.3] 25.2| 22.9| 27.8] 26.5| 20.5| 16.8| 11.5 9.2| 11.0| 15.1| 27.8
pisih (C) /AN 1100 1600 19.7| 20.0| 22.3] 19.9| 15.5| 11.2 5.0 3.4 5.5 8.3 3.4
Sy | 13.4|  19.1|  22.4| 21.5] 26.0] 23.6| 18.1| 13.9 8.3 5.9 7.9 12.1] 16.1

R | <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1

L (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 0.1 <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Wl 7.22| 7013 7.24| 7016 7.27| 7.33| 7.42| 7.44| 7.41| 7.33| 7.34| 7.42| 7.44

p Hf& /| 6.88] 6.88] 6.96| 6.94| 7.03| 7.13| 6.99| 7.22| 7.20| 7.06| 7.07| 7.00| 6.88
Sy | 7.06) 7.01| 7.09| 7.04| 7.14| 7.21| 7.21| 7.32| 7.30| 7.22| 7.18| 7.14| 7.16

BR 0 0 0 0 0 0 0 0 0 0 0 0 0

i (%) 2 0 0 0 0 0 0 0 0 0 0 0 0 0
hiA5] 0 0 0 0 0 0 0 0 0 0 0 0 0

S Gl BR 0.7 0.9 1.2 0.8 1.0 0.8 0.8 0.7 0.6 0.7 0.7 0.9 1.2
B U g ) (mg/L) /AN 0.5 <0.5 0.5 <0.5| <0.5| <0.5 0.5 <0.5| <0.5| <0.5| <0.5| <0.5| <0.5
S| <0.5 0.7 0.9 <0.5 7 0.6 0.6 0.5 <0.5| <0.5| <0.5 0.6| <0.5

b (AR BR 0.4 0.6 1.0 0.5 .6 0.5 0.5 0.5 0.4 0.5 0.5 0.4 1.0
(TOC) i) (mg/L) 2 0.3 0.5 0.7 0.4 .5 0.5 0.3 0.3 0.3 0.3 0.4 0.3 0.3
hiA5] 0.3 0.6 0.8 0.4 .6 0.5 0.4 0.4 0.4 0.4 0.4 0.4 0.5

k| 14.5| 14.6| 15.6| 13.3| 14.7| 14.1| 14.5| 14.3| 15.0| 25.0| 17.2| 20.1| 25.0
WA 4 (mg/L) e/ 9.5 9.4 10.8| 10.2| 10.2| 11.4| 10.1| 10.3| 11.4| 1L.5] 12.1| 11.4 9.4
Sy | 117 12.6|  12.8| 115 12.5| 12.6| 11.9| 12.0| 13.2| 14.4| 14.1| 14.2| 12.8

B RARL| REAL| REAL| REAL| REaL| BEaLl BEaLl REeL] REsaL| REAL| REAL| RBREARL| REAL
B 1 1 1 1 1 1 1 1 1 1 1 1 1

RBEME (TON) 2 1 1 1 1 1 1 1 1 1 1 1 1 1
hiA5] 1 1 1 1 1 1 1 1 1 1 1 1 1

'S SR L] RBEARL[ REAL| REARL| REAL| BEAL| REAL| REAeL| REAL| BEAL| REAeL| REAeL| REAL
o LN <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
i;ii”wymw‘ oe/D) |8 a a a a a a a a a a a a a
hiA5] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

R <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

TxAAIV (ng/L) s <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
hiA5] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

BR 0.7 0.9 1.0 0.8 1.0 1.0 0.8 0.8 0.7 0.6 0.6 0.7 1.0

PR (mg/L) e 0.6 0.6 0.8 0.7 0.7 0.8 0.7 0.6 0.6 0.5 0.6 0.5 0.5
hiA5] 0.7 0.7 0.9 0.7 0.8 0.8 0.7 0.7 0.6 0.6 0.6 0.6 0.7

202




19% [1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> GH) ETAES
09 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [€) HB[0sF
6VE | TNEE | \NEE | 1UEE | 1UEE | 1REYE | 1QHEE | THEE | MHEE | IREF [ 3EF | 13EF | 19EE | 19E¥ | \3E8F [ 13sE | 6VE
SV | INHEY | TUHEE | THEE | NHEE [ AREF [ 13T | 13EF | 1EE | 198 | 19E2¥ | 13EF | 13@EF | 19HEE | 1HEE | 13EE H|8vE
LVE [2€°L ) 2L 6¢ "L 1870 vE "L 17 °L 2V "L [ [ [T LT°L 12°) 12°L ¥E 'L HAHI|LvE
9E |70 0> 0°T 70 70 0> 0 0 G0 70 G0 q°0 01 9°0 £°0 (1/30) (@ (DOL) ¥XWET) GWE|ovE
S¥E (5000 0> 5000 ‘0> 5000 ‘0> - - - - - - - - - - G000 "0> - (1/3m) W — = L|vE
& [200 10> 200 0> 200 0> - 200 0> - - 200 0> - - 200 0> - - 200 ‘0> - (1/3m) EHPIEY A K S HE[WE
Vg [ > > > > > > > > > > > > > > (1/3u) N—E AL LI ANE LT R
oV E 1> > > > > > > > > > > > > > > (1/39) AIYXKETR|TE
v |20 0> 20 '0> 20 '0> - - - - - - - - - - 20 "0> - (1/3m) EHIEY K JE R
ovE 911 701 931 €31 931 811 011 611 121 ST1 911 601 G501 4 701 (1/3m) R | 0ovR
65F |0 7S 0°LV 1765 K 1765 VLG 295 ) 09 699 1% 0°L7 2 'S 7 88 V16 (1/30) (FH) VL kL> Ve VK 6EE
8eF [€ 21 201 0°G1 0°G1 9°¢T K3 (4 ¢ 11 611 821 111 201 G 21 g1 G 01 (1/3m) AK AV B 8T
L8 [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/31) GHINDINWAKAX|LER
9gF |2 01 201 201 - - - - - - - - - - 301 - (1/3m) G%EAOXONNT4L (] £|95F
g€ [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) B X NW MG e F
YEF [10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> (1/3m) G%EAOXNWE|veF
€€ [20 0 10 °0> 70 0 10°0 10°0 10 0> 10 °0 20 0 10 0> €0 0 700 20 °0 70 0 20 °0 10°0 (1/3m) GHENOXINHWT L= AU L|eeE
2€F [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) #HE AN NN [eeF
1EF (200 0> 200 "0> 200 "0> - 200 "0> - - 200 "0> - - 200 "0> - - 300 “0> - (1/3m) d AL LTk 1eF
0SF (7000 "0 2000 "0 9000 "0 - 2000 "0 - - £000 "0 £000 ‘0 £000 ‘0 7000 0 £000 ‘0 9000 "0 4000 ‘0 - (1/3m) AT L|0ER
62 [G500 "0 1200 °0 8100 0 - 1200 0 - - 7£00 ‘0 8600 "0 1500 °0 6900 ‘0 %900 “0 8100 0 G600 "0 - (1/3m) AL OO GLEOL|6CE
82 [100 "0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FdHo o ¢ 14 [82F
L2 020 °0 6100 0 820 "0 - 6100 "0 - - £210 °0 220 °0 €20 °0 520 °0 %80 °0 820 "0 610 0 - (1/3m) A& ¥ (12
9ZF [ 100 0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FEH|92F
5z 0200 '0 0100 "0 G£00 "0 - 0100 "0 - - 2100 0 2100 °0 6100 ‘0 %200 0 0300 “0 G£00 “0 9%00 "0 - (1/3m) AL OO 4x0LL|CT
¥ZF [ 100 0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FHo 0 2L |eE
€2 210 °0 0700 ‘0 910 "0 - 0700 "0 - - %200 0 710 °0 S10°0 S10°0 910 0 910 "0 010 °0 - (1/3m) RN
33 [100 "0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3m) FiHo o ¢|eE
12 |60 '0 20°0 210 - 20°0 - - 80 0 - - 210 - - 80 0 - (1/3m) FEE| 127
02 [1000 0> 1000 ‘0> 1000 0> - - - - - - - - - - 1000 "0> - (1/3m) Aq | 0TF
61 1000 "0> 1000 "0> 1000°0> |- - - - - - - - - - 1000 "0> - (1/3m) AA£Tod g (] |61F
8IF [1000 "0> 1000 "0> 1000°0> |- - - - - - - - - - 1000 "0> - (1/3m) AAL£TO0 4L L[8TR
LIE [1000 “0> 1000 ‘0> 1000 ‘0> - - - - - - - - - - 1000 "0> - (1/3m) AL OO gL|ITR
oTF [2000°0>  |2000°0>  [z000°0> |- - - - - - - - - - 2000°0> |- (mmy  JEETRRLLT Parsal Ellors
SIF [500 "0> 500 "0> 500 "0> - - - - - - - - - - 400 "0> - (1/3m) AhxKAT TSI
YIF [ 1000 "0> 1000 ‘0> 1000 0> - - - - - - - - - - 1000 0> - (1/3m) ENVEh [VIE
eI [10°0 10°0 10°0 - - - - - - - - - - 10°0 - (1/3m) GHEUDINHELLE|TE
SIE [0 "0 01 °0 01 °0 - - - - - - - - - - 01 °0 - (1/3m) GEAOXOWE L L|21F
I [28°0 28°0 28°0 - - - - - - - - - - 380 - (1/3m) EBFHAEO WESHAHA| 117
0L [100 "0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 0> - (1/30) A LANBOWAK V@A)~ LA[OTF
6% [%00 ‘0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3m) LS RRE 6F
8% [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3m) G%E3)7 o W] 8F
1 [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) HEANOLNNWEA LF
9% [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) %LA0 0| 9F
g [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) G%EANOXONN A2 SF
¥& [50000 ‘0>  [S0000 0> [50000°0> |- - - - - - - - - - §0000 0> |- (1/3m) HEA O XNWE¥| VR
€F [£000 0> £000 ‘0> €000 ‘0> - - - - - - - - - - £000 "0> - (1/3m) GEAOINATL ] K| ¢F
| WYk ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ g gL g gL g U] E
T [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/E)) Haw—| 1E

10 9°0 6°0 9°0 9°0 9°0 9°0 10 10 6°0 8°0 8°0 8°0 8°0 9°0 (1/3m) SE BT

2 LT K3 892 0°TT S8 K3 0°01 821 ¥ 61 G°GZ 892 [343 0°6Z €16 1°¢1 (Q,) BOK

9°G1 K3 6°2¢ 1°9 0°G [3K4 1°9 [443 6°13 1°8% 6°2¢ 1°0% 123 661 201 (Do) Y

- - - = = = £ £ = = ] = ] = £ X H IR

- - - 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 (& H

G2 [ Yy EEER H8HT HZTH1 HLHTT HOTHIT | HIIHOI HLH6 HITHS HETEL H8H9 HSTHS HelHY EEERZ ]

Eif:diag TN BN ((REE SR

WNH 4

203



1% (170> 10> 10> 10> 10> 10> 10> 10> 10> 10> 10> 1°0> 10> 1°0> 1°0> [€) EA IS
05% [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [€) S
6VE | TNEE | \NEE | 1UEE | 1UEE | 1REYE | 1QHEE | THEE | MHEE | IREF [ 3EF | 13EF | 19EE | 19E¥ | \3E8F [ 13sE | 6VE
SV | INHEY | TUHEE | THEE | NHEE [ AREF [ 13T | 13EF | 1EE | 198 | 19E2¥ | 13EF | 13@EF | 19HEE | 1HEE | 13EE H|8vE
LVE |68 "L 2L°L 17 °L 1772 [ 2 "L 18°L 17 °L 2L°L [ [ 03 "L 7€ L 9% "L 66 "L gHI|vE
9vE |70 0> 0°T 70 70 0> 0 0> G0 70 G0 q°0 0°T 9°0 €0 (1/30) (@ (DOL) ¥XWET) GWE|ovE
S¥E (5000 0> 5000 ‘0> 5000 ‘0> - - - - - - - - - - G000 "0> - (1/3m) W — = L|vE
& [200 10> 200 0> 200 0> - 200 0> - - 200 0> - - 200 0> - - 200 ‘0> - (1/3m) EHPIEY A K S HE[WE
Vg [ > > > > > > > > > > > > > > (1/3u) N—E AL LI ANE LT R
oV E 1> > > > > > > > > > > > > > > (1/39) AIYXKETR|TE
v |20 0> 20 '0> 20 '0> - - - - - - - - - - 20 "0> - (1/3m) EHIEY K JE R
OvE [S11 701 (£ 031 031 [X4] 801 071 $21 eIl 211 101 011 251 701 (1/3m) R | 0ovR
65F |V 7S 7o 709 K 709 €°19 8G9 069 2 6% ¥ 7S 2 €9 9% VLS 9°69 1°18 (1/30) (FH) VL kL> Ve VK 6EE
8eF [V 21 201 2 'Sl 2 'Sl K3 K3 21 711 21 G 21 601 201 21 9°¢1 9°01 (1/3m) AK AV B 8T
L8 [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/31) GHINDINWAKAX|LER
9gF |2 01 201 201 - - - - - - - - - - 301 - (1/3m) G%EAOXONNT4L (] £|95F
g€ [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) B X NW MG e F
YEF [10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> (1/3m) G%EAOXNWE|veF
€€ [20 0 10°0 £0 "0 - 10°0 - - 200 - - £0 "0 - - 30 0 - (1/3m) HEANOINN T 4=SANL|eEF
2€F [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) #HE AN NN [eeF
1EF (200 0> 200 "0> 200 "0> - 200 "0> - - 200 "0> - - 200 "0> - - 300 “0> - (1/3m) d AL LTk 1eF
0SF (5000 "0 7000 ‘0 1000 "0 - 7000 0 - - 7000 0 - - 1000 “0 - - 9000 "0 - (1/31) TAEE O L|0sE
62 [1500 0 8200 "0 8100 0 - 8200 0 - - 9£00 ‘0 - - 8100 0 - - 2900 ‘0 - (1/3m) AL OO GLEOL|6CE
82 [100 "0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FdHo o ¢ 14 [82F
L3E [L10°0 £800 0 120 °0 - £800 0 - - 6210 ‘0 - - 120 °0 - - 120 0 - (1/3m) A& ¥ (12
9ZF [ 100 0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FEH|92F
52 7200 0 2100 0 7£00 "0 - 2100 0 - - G100 °0 - - 7500 "0 - - ££00 ‘0 - (1/3m) AL OO 4x0LL|CT
¥ZF [ 100 0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FHo 0 2L |eE
£2F [£600 0 6£00 "0 G100 - 6£00 ‘0 - - %200 0 - - S10°0 - - 1100 - (1/3m) A OO 7|80
33 [100 "0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3m) FiHo o ¢|eE
12 |60 '0 20°0 210 - 20°0 - - 80 0 - - 210 - - 80 0 - (1/3m) FEE| 127
02 [1000 0> 1000 ‘0> 1000 0> - - - - - - - - - - 1000 "0> - (1/3m) Aq | 0TF
61 1000 "0> 1000 "0> 1000 "0> - - - - - - - - - - 1000 "0> - (1/3m) AA£Tod g (] |61F
8IF [1000 "0> 1000 "0> 1000 "0> - - - - - - - - - - 1000 "0> - (1/3m) AAL£TO0 4L L[8TR
LIE [1000 “0> 1000 ‘0> 1000 ‘0> - - - - - - - - - - 1000 "0> - (1/3m) AL OO gL|ITR
oTF [2000°0>  |2000°0>  [z000°0> |- - - - - - - - - - 2000°0> |- (mmy  JEETRRLLT Parsal Ellors
SIF [500 "0> 500 "0> 500 "0> - - - - - - - - - - 400 "0> - (1/3m) AhxKAT TSI
YIF [ 1000 "0> 1000 ‘0> 1000 0> - - - - - - - - - - 1000 0> - (1/3m) ENVEh [VIE
eI [10°0 10°0 10°0 - - - - - - - - - - 10°0 - (1/3m) GHEUDINHELLE|TE
SIE [0 "0 01 °0 01 °0 - - - - - - - - - - 01 °0 - (1/3m) GEAOXOWE L L|21F
I [28°0 28°0 28°0 - - - - - - - - - - 380 - (1/3m) EBFHAEO WESHAHA| 117
0L [100 "0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 0> - (1/30) A LANBOWAK V@A)~ LA[OTF
6% [%00 ‘0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3m) LS RRE 6F
8% [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3m) G%E3)7 o W] 8F
1 [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) HEANOLNNWEA LF
9% [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) %LA0 0| 9F
g [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) G%EANOXONN A2 SF
¥& [50000 ‘0>  [S0000 0> [50000°0> |- - - - - - - - - - §0000 0> |- (1/3m) HEA O XNWE¥| VR
€F [£000 0> £000 ‘0> €000 ‘0> - - - - - - - - - - £000 "0> - (1/3m) GEAOINATL ] K| ¢F
| WYk ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ H¥ gL g gL g U] E
T [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/E)) Haw—| 1E

9°0 G0 8°0 G0 G0 G0 G0 9°0 10 8°0 10 9°0 10 1°0 9°0 (1/3m) SE BT

¥ '91 K3 [ 1°01 ) €7 1°8 6°T1 8 ‘81 292 [ 1°3% € €3 ¥ 61 921 (Do) BOK

8 Gl PR 8°2¢ 0°G €' PR €8 PR 222 292 8°2¢ 161 072 661 £°6 Q) Y

- - - = = = £ £ = = ] = ] = £ X H IR

- - - 00:0T G7:6 G7:6 G7:6 G7:6 G7:6 00:0T 0€:6 07:6 0T:0T 08:6 07:6 (& H

[CES [ X¥ H8HE EEE3 HITHT H.HBI HOTHTT | HZTHOT HLH6 HITHS HETHL H8H9 HSTHS HETHY EEER

Eif:diag TOEHME BN (B SN

WK =

204



1% (170> 10> 10> 10> 10> 10> 10> 10> 10> 10> 10> 1°0> 10> 1°0> 1°0> [€) EA IS
09 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [€) HB[0sF
6VE | TNEE | \NEE | 1UEE | 1UEE | 1REYE | 1QHEE | THEE | MHEE | IREF [ 3EF | 13EF | 19EE | 19E¥ | \3E8F [ 13sE | 6VE
SV | INHEY | TUHEE | THEE | NHEE [ AREF [ 13T | 13EF | 1EE | 198 | 19E2¥ | 13EF | 13@EF | 19HEE | 1HEE | 13EE H|8vE
LVE |37 L 9z "L 67 "L 67 "L oF "L gL 1V°L 67 "L ) VL VL 9% "L 0 °L 8€ "L gL gHI|vE
9vF [0 £°0 8°0 70 £°0 £°0 £°0 70 G0 G0 G0 70 8°0 9°0 G0 (1/30) (@ (DOL) ¥XWET) GWE|ovE
S¥E (5000 0> 5000 ‘0> 5000 ‘0> - - - - - - - - - - G000 "0> - (1/3m) W — = L|vE
& [200 10> 200 0> 200 0> - 200 0> - - 200 0> - - 200 0> - - 200 ‘0> - (1/3m) EHPIEY A K S HE[WE
Vg [ > > > > > > > > > > > > > > (1/3u) N—E AL LI ANE LT R
oV E 1> > > > > > > > > > > > > > > (1/39) AIYXKETR|TE
v |20 0> 20 '0> 20 '0> - - - - - - - - - - 20 "0> - (1/3m) EHIEY K JE R
ovE 121 901 1€l 1€l 1€l 921 811 8321 231 811 $21 g1l P11 4 901 (1/3m) R | 0ovR
65F |6 7S € GV 8°19 099 8°19 9°15 v "0g 0°.9 2 6% 069 0 %9 iz 699 809 v 67 (1/30) (FH) VL kL> Ve VK 6EE
8eF [9°¢1 ¢ 11 K 2 91 7ol 971 6°¢1 8¢l 821 S 71 ¢ 11 711 2 ¢l 071 9°11 (1/3m) AK S GI)Br|8eF
L8 [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/31) GHINDINWAKAX|LER
9eF [1°11 111 111 - - - - - - - - - - 111 - (1/3m) G%EAOXONNT4L (] £|95F
g€ [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) B X NW MG e F
YEF [10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 °0> 10 0> 10 °0> 10 0> 10 °0> (1/3m) G%EAOXNWE|veF
€€ [€0°0 200 70 °0 - 200 - - 70 °0 - - 70 °0 - - €00 - (1/3m) HEANOINN T 4=SANL|eEF
2€F [10 0> 10 °0> 10 °0> - - - - - - - - - - 10 °0> - (1/3m) #HE AN NN [eeF
18 [200 0> 200 "0> 200 "0 - 200 "0> - - 200 "0> - - 200 "0> - - 300 “0 - (1/3m) d AL LTk 1eF
0£F (0100 "0 6000 "0 0100 "0 - 6000 "0 - - 0100 ‘0 - - 0100 ‘0 - - 6000 "0 - (1/31) TAEE O L|0sE
62 (8900 "0 2€00 0 7600 "0 - 2€00 0 - - %900 0 - - 7600 0 - - 1800 ‘0 - (1/3m) AL OO GLEOL|6CE
82 [200 "0 100 ‘0> 700 0 - 100 ‘0> - - 200 0 - - 700 "0 - - 700 0 - (1/3m) FdHo o ¢ 14 [82F
L2 [220°0 2010 0 2€0 °0 - 2010 0 - - 2020 "0 - - 2€0 °0 - - 920 ‘0 - (1/3m) A& o (L2 E
9ZF [ 100 0> 100 ‘0> 100 ‘0> - 100 ‘0> - - 100 ‘0> - - 100 ‘0> - - 100 "0> - (1/3m) FEH|92F
Sz 9700 0 1£00 0 G500 "0 - 1£00 °0 - - 8700 ‘0 - - G500 0 - - 2500 ‘0 - (1/3m) AL OO 4x0LL|CT
¥ZF [ 100 0> 100 ‘0> 200 0 - 100 ‘0> - - 100 ‘0> - - 200 0 - - 100 "0> - (1/3m) FHo 0 2L |eE
€2 8600 '0 0£00 "0 910 "0 - 0£00 "0 - - 0800 ‘0 - - 910 "0 - - 210 0 - (1/3m) A OO 7|80
33 [100 "0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3m) FiHo o ¢|eE
6% [L0°0 90 ‘0> 11°0 - 90 ‘0> - - 60 '0 - - 11°0 - - 80 °0 - (1/3m) FEE| 127
02 [1000 0> 1000 ‘0> 1000 0> - - - - - - - - - - 1000 "0> - (1/3m) Aq | 0TF
61 1000 "0> 1000 "0> 1000°0> |- - - - - - - - - - 1000 “0> - (1/3m) AA£Tod g (] |61F
8IF [1000 "0> 1000 "0> 1000°0> |- - - - - - - - - - 1000 “0> - (1/3m) AAL£TO0 4L L[8TR
LIE [1000 “0> 1000 ‘0> 1000 ‘0> - - - - - - - - - - 1000 "0> - (1/3m) AL OO gL|ITR
. . . . ALTOO4A-2T-X AL

9T (2000 "0> 2000 "0> 2000 "0> - - - - - - - - - - 2000 0> - (1/3m) b%w, P $Hm,u iG-2 Juxw,, oTE
SIF [500 "0> 500 "0> 500 "0> - - - - - - - - - - 400 "0> - (1/3m) AhxKAT TSI
Y1 [1000 0> 1000 0> 1000°0> |- - - - - - - - - - 1000 0> - (1/3m) SEX N [vIF
ELE [€0°0 €0°0 €0°0 - - - - - - - - - - €0 °0 - (1/3m) BGRAVOTNHE LN [T
SIE [o1°0 0T "0 0T "0 - - - - - - - - - - 010 - (1/3m) BGRAUOINHESL[TIE
g [10°T 10°T 10°T - - - - - - - - - - 10°T - (1/3m) EFRBUEOWESHAY 11T
0T [100 "0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/30) ALANVBEOHAK S GAALA|OTE
6% [%00 ‘0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3m) LS RRE 6F
8% [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3m) G%E3)7 o W] 8F
1 [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) HEANOLNNWEA LF
9% [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) %LA0 0| 9F
g [100 0> 100 ‘0> 100 ‘0> - - - - - - - - - - 100 "0> - (1/3m) G%EANOXONN A2 SF
¥& [50000 ‘0>  [S0000 0> [50000°0> |- - - - - - - - - - §0000 0> |- (1/3m) HEA O XNWE¥| VR
€F [£000 0> £000 ‘0> €000 ‘0> - - - - - - - - - - £000 "0> - (1/3m) GEAOINATL ] K| ¢F
| WYk ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ g gL g gL g U] E
T [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/E)) Haw—| 1E

70 70 G0 70 70 70 70 70 70 70 70 q°0 70 70 G0 (1/3m) SE BT

G°LT 9°) 997 80T 9°) 28 N4 191 718 997 [z 718 9°02 € '8l ¥el Q) BOK

¥ LT 0% 8 7¢ K] 1°9 0% G 21 ¥ 81 K43 G°L7 8 7¢ 9°1% 2% €08 16 (Q,) T

- - - = £ = £ £ = = ] = & = £ X H IR

- - - 0€: 11 02:11 0T: 11 GZ:11 GZ:11 GT:11 0€: 11 02:11 08:11 0£: 11 QT:11 0T:11 &

G2 [ Yy EEER H8HT HZTH1 HLHTT HOTHIT | HIIHOI HLH6 HITHS HETEL H8H9 HSTHS HelHY EEERZ ]

TOPTHEE <8 #oitlI(BEE ¢ SRS

205



(4) DR



@O  BUKJFAK2IEH

W R R ik B4R
1 |[¥%KkG4 AKITEARYS | A 1§ K
2 |3UEH4 ARTTUKSS | T8 BUK 5
3 |BAKHEHH 9A1H 9H1H
4 |BEAKEEZ) 9:10 9:00
S ELEPN 2 i
6 |&ia (°C) 28.5 25. 4
7 K& (°C) 25. 4 24. 4
1| B (& /mL) 5, 900 5, 500
2 | KB GEME) i R HH
H3 B FI T ARREDOLEY (mg/L) <0. 0003 <0. 0003
a4 KB EORZEDILEY (mg/L) <0. 00005 <0. 00005
5 | 2L ROFDILEW (mg/L) <0. 001 <0. 001
6 |$h M O DAY (mg/L) <0. 001 <0. 001
T e FROZEDILEY (mg/L) 0.001 0. 002
8 [Nl 7 v MEAEY) (mg/L) <0. 001 <0. 001
9 |HEEEREE R (mg/L) 0. 008 0. 008
10 | T A A A v B OEALS T v (mg/L) <0. 001 <0. 001
FELL R E R R O E R (mg/L) 1.14 0. 75
12 |7 v FEROZDLEYD (mg/L) 0.10 0.10
I3 |F U FERRZDILEY (mg/L) 0.06 0.01
H14 [P bR E (mg/L) <0. 0001 <0. 0001
151, 4- A9 (mg/L) <0. 005 <0. 005
16 {;/1;?71/2{3;:;?;;%9 (mg/L) <0. 0002 <0. 0002
K17y rmm & (mg/L) <0. 0001 <0. 0001
HKI18| 7 hTF /oo TF L (mg/L) <0. 0001 <0. 0001
K19l YV 7vooxoF L (mg/L) <0. 0001 <0. 0001
o0 |t (mg/L) <0. 0001 <0. 0001
2l MR (mg/L) - -
oo |7 o o ez (mg/L) - -
o3 |7 v m kL (mg/L) - -
Hod |V 7 oo fEfg (mg/L) - -
Hos|vo7mErum A gy (mg/L) - -
26 | HFE R (mg/L) - -
H2T[e b U g A& (mg/L) - -
H2g | bV 7 v v FERR (mg/L) - -
ool mE S rmu AR (mg/L) - -
H30 |7 aEHRL L (mg/L) - -
M3l arirse R (mg/L) - -
32 |Hign M O DI EWY) (mg/L) <0. 01 <0. 01
337 =0 A R OFE DAY (mg/L) 1.03 0. 66
He34 |8k R O DLEY (mg/L) 0.72 0.77
235 | N ZDIbEY (mg/L) <0. 01 <0. 01
236 | b U AR OZEDOILEY (mg/L) 9.1 8.1
F37 |~ W RO DILE Y (mg/L) 0. 049 0.08
H38 [k A A (mg/L) 8. 4 6.8
(v o, v xSk (E) (ng/L) 46. 8 59. 3
40 | 7RI Y (mg/L) 141 148
Feal [faA A v Fmis A (mg/L) <0. 02 <0. 02
HplvotAx3 (ng/L) 1 4
A3 (2- A F LA VRV A — )L (ng/L) 1 3
44 |FEA A o B mIEER (mg/L) <0. 002 <0. 002
A5 |7 = ) — VIR (mg/L) <0. 0005 <0. 0005
46 |G (ARFE (TOC) o&FE)  (mg/L) 1.4 1.7
F47 | p HIE 7.66 7.68
48 B — —
49 [ R& TBIRE TBIRE
H50 | () 9 13
JL51 V& EE () 6.3 4.2




NCHTT/8

B =L o N VIH |

Mg =daLaoogsi ¢TH) T

W 0TH | QNI 3¢

207

. . : . . ) ) YOId) 3~ O AL LA

200000 "0> 200000 "0> 200000 "0> 200000 "0 200000 "0> 200000 "0> 200000 0 (1/3w) (s0 bv o \v Jm $ \M mw EAW vy hmm 1€ H
10°0 €00 10°0 T1°0 700 700 90 0 ('1/3u) A DO2LNWT L= L[ogH
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> (1/3uw) ALTonogsi-11gH
1 0 0 - 9 0 - (Tu/ ) (FH L35y HE3ELE L [8cH
§°1- €1- vl- - 11- g1- - (Bt L (L&) T H|LTH
1871 LV 7L L €L7L V9L VYL 0872 1 dozH
10> T°0> T°0> 9T T°0> T°0> €1 ('1/3w) A
80T 8TT 01T 21 821 Gl 121 ('1/3uw) s 9esizre g
! ! ! g ! ! 4 (NO.L) HEYH[EcH
9°0 9°0 G0 3 G 0> 0> 61 (1/3w)  (HEERIT 0 ( CHWALL AT 5T o H
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> ('1/3u) NL—TAUL LY ALK |1TH
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> ('1/3u) ~sxTonog ((4-1TTzH
7 T°¢ LS - 6T [ - ('1/3uw) ETRCECEd !
100 0> 100 0> 100 0> 1600 100 0> 100 0> 0100 ('1/3u) A D02 0W A LA 2 RBTH
8 "G¢G v 9¢G ¢ 9S 9 °6G 918 918 08¢ ('1/8u) (W) ST o kg TLAAUKLLTHE
§°0 70 9°0 - §°0 9°0 - ('1/3u) FEH RO H
- - - - - (F sy EF YY) BeEE|STH
100 0> 2000 100 0> - 500 "0 100 0> - ('1/3uw) A— Lo N ETH
100 0> 100 0> 100 0> - 100 0 100 0> - ('1/3u) A=l aLon04i6TH
- - (1/3w) AV [T H
90 0> 90 0> 90 0> - 90 0> 90 0> - ('1/3uw) BR[0T H
100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> ('1/3uw) (AR~ AULT-C) RNL L|6H
1000 0> 2000 "0 1000 0> 1000 0> £000 "0 1000 0> 1000 0> ('1/3uw) ~ T4 |8H
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> ('1/3uw) S~ gTOno g3 T1|GH
100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> ('1/3u) GG AND2NHWA L < =|¢H
2000 0> 3000 0> 3000 0> 2000 0> 2000 0> 2000 0> 2000 0> ('1/3u) GHGAND2OW A~ L L|2H
100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> ('1/3u) A D20 W =L LITH

18 R 0°01 176 16T 611 601 Q) mEN

€8 G gl 179 €91 Vel vy 0°¢Gl Q) e

£ LT i LT LT LT 5 AN H %

§7:6 §Z:11 00:6 0T:0T GG:0T 00:6 0T:TT AN

HLHZTT HLHZT HLHZT HLHZT HLHZT HLHZT HLHZT H H =%

ORI | TR 4 8 | O (R | BN (BB | WO | WNGELEO | N e Easas

G| L G LN

Hdyoly s
FHHEY (HED) HHEr s 5l & B
W2 H 8 @




teH (1/2m) GE%Mw%MMMWMMMW&M%MMmM
0gH |- - - - - - - - - - - - - - - (1/3u) HEANDTOWT 4= s L] 0gH
6cH |- - - - - - - - - - - - - - - (1/3m) AALTon g a-11| 62H
Sz H [000 22T [008°G  [000 0GE [000°09 [000 0E [008°G  |00S 6L |000 0GE [000 8V 000 OET |000 OET [000 98 [000 0£Z |000 092 |000 0ST | (qu/[g}) (A H L35y HMIELE| sch
L2H |- - - - - - - - - - - - - - - ('1/3uw) (B L (&~ E&) Y| LoH
9zg |19 2 VoL €L L 99 L €L L 69 L 192 89 L 89 L €9 L VoL €9 L 791 89 L 09°L Wd|ozH
Gzl |7 e 51 878 17T LT 51 €7 61 61 Tl 67 878 0°¢E 0°¢ 1% (1/30) s a2k
vzg |91 101 821 Ca 811 101 0e1 €1l A Vel 101 021 A 821 101 (1/8u) e vo e
zd - - - - - - - - - - - - - - - (NO.L) ¥ | ccH
zeE L€ PR 76 £°C L1 07 073 61 T3 076 8¢ 76 3 S £ (1/80)  (BHHIT 4 ( L~~~ 0 Suss|
12H |- - - - - - - - - - - - - - - (1/3m) AU L—TAL L=V AL £ | 1TH
0zHE | - - - - - - - - - - - - - - (1/3u) AgTong (-1 0zH
61H |- - - - - - - - - - - - - - - (1/8m) w2 614
grg |€0°0>  [€0°0>  [70°0 €0°0>  [€0°0>  [60°0>  [60°0>  |80°0>  [€0°0>  [¥0°0 €0°0>  [€0°0> |60 0>  [e0°0> |80 0> (1/5m) G D2L0W A LA 2| 8TH
L1H |2 €S 0Ty €69 9795 189 €9 8799 e 525 1705 9°ar 0Ty 2 2S 17€S 205 (1/3) (GlH) B Taikde TaAE| LH
9TH |- - - - - - - - - - - - - - - (1/3u) e 91 H
518 4 B K| 51 H
VIH |~ - - - - - - - - - - - - - - (1/3w) AU—& o VB VT H
el |- - - - - - - - - - - - - - - (1/3u) Ay = aLnngr|elH
21l |- - - - - - - - - - - - - - - (1/8u) FEE | 21l
oTH |- - - - - - - - - - - - - - - (1/3m) | 0T H
68 |- - - - - - - - - - - - - - - (1/3u) (WA ENALTF) &AL L| 6H
FERE - - - - - - - - - - - - - - (1/3u) A=Ay | 8H
sH |- - - - - - - - - - - - - - - (1/3u) AgTOO 4431 GH
THE - - - - - - - - - - - - - - (1/3u) GO0 204 < =] £H
cH |- - - - - - - - - - - § - § - (1/3u) UGN 0N~ L 4| oH
5 | - - - - - - - - - - - - - - (1/3u) GEANDXOHA =LA L] TH
0°¢l 0°g v °9g VL 0°¢ A €01 A V61 v 9e €60 8761 00 881 €11 ) oK
0791 €0- 58 AL 173 €0~ 978 071 0% 5°8C 8% Ve 0% 0°7¢C 011 o) e
- - - & = & & & = & & BRI = & LT #HXH IR
- - - 50:6 586 68 506 16 016 01:6 01:6 | Ge:01 | 0v:6 086 016 T
G [ X3 | B1He | HIHE | HPHT | HIHel | H6HTT | HGHOT | HING | Hels | HOKL | HIK9 | HITHS | HOHF H H g
Ty L ERANTENAR A=A NG

Rl R H Hr A R H e S K

208



teH (/2% GE%Mw%MMMWMMMW&M%MMmM
0cH |- - - - - - - - - - - - - - - (1/8w) GEANDO X0 T L =3 L|0EH
ETRE - - - - - = - - - - - - - - (1/3w) AL£Too gL-1°T62H
gz [009°9T  [o0S e 000 ‘2€  [000°GE  [00€ ¢ |00G € 008 ¥ 00T 2T [006°G 005G 00v TT 000 “LE  [000 T€ [0O¥ 9T  [009 VT (/) (B L) HEpaExE| s
LZH |- - - - - - - - - - - - - - - (1/3w) FEtL (&7 &) W LeH
9z |99 L 0€ 7L TL°L 09°L 3G L 96 7L 9¢°L TL°L 29°L 6G L 1871 0€ 7L 092 9 "L 19°L HHd|ozH
czH |2 0T 4 LT 91 0T ST 91 L7 0V Ve 4 L7 6°G 61 (1/8u) | oz g
vz [80T g6 931 601 801 GoT 701 g6 01T 921 S0T LTT 601 10T S0T (1/3m) h 35| v
PTRE - - - - - - = - - - - - - - (NO L) Huix4|esH
7zH [0S 7T ¢6 €°¢ 6% 7e Ge 9°¢ Ly 8L 2 G6 L9 G9 9°¢ (1/30)  (BEHT 4 (Ll g7 ~T) | gl
126 |~ - - - - - - - - - - - - - - (1/8u) AU L—TAL L= ~A£ K| 1CH
0zH |~ - - - - - - - - - - - - - - (71/8uw) AgToog (-1T70zH
61H |- - - - - - - - - - - - - - - (1/3w) A 61 H
Q1| |90 0 €00 800 1070 7070 €070 7070 G0 0 1070 800 900 800 G500 80 0 G500 (1/3u) GO AN D XNH A~ L2 8TH
BREREES [z 529 529 €29 889 [CE] 6 VS 9°¢S 8°19 0739 [z 9°¢S 0°2S 619 (1/8u) (Gl &Tarksr “TLAUE|LTH
9aTH |- - - - - - - - - - - - - - - (1/8w) HEHR¥| 91 H
ST B 4 S wER| o1 H
ViH |- - - - - - - - - - - - - - - (1/3u) A— Lo KR PTH
€Tl |- - - - - - - - - - - - - - - (1/3w) Al =aLongs| el
erH |- - - - - - - - - - - - - - - (1/3u) SEWHT | 21H
orH |- - - - - - - - - - - - - - - (1/3u) S| 01 H
68 |- - - - - - - - - - - - - - - (71/8uw) (UARX~AULT-Z) AWV E L 6H
sH |- - - - - - - - - - - - - - - (1/3u) ~ x| 8H
SH |- - - - - - - - - - - - - - - (71/8uw) AgTono44-2° 0 GH
el |- - - - - - - - - - - - - - - (1/3w) HSN020HA 4 =] ¢H
cH |- - - - - - - - - - - - - - - (1/3w) GHLANO2XNH £ 4| ¢H
T8 |- - - - - - - - - - - - - - - (1/3w) HGND2LO0H "L~ L| TH
Ger LT v V8 7G LT 9% 28 1€l 681 Ve 44 761 881 G 81 78 ) m
1797 0°T- 1782 2 el ¢ 0°T- VL €6l ¢1% v °Ge 1782 0% 661 8°V¢ Lel 0. mp
- - - & & & & & & & & E & i S WY HE
- - - Gl:6 §0:6 Gy:8 00:6 G0:6 §0:6 GI:6 01:6 00:6 0T:6 0v:6 §1:6 L
(ke SE< X HIge | HIHG | HYHT | HIHSI | H6HIT | HGHOI | HIH6 | HEHS | HOHL | HIH9 | HITHS | HIHY H H =N
Hony L GO (BEEE GBI (RAEE - Sk

Rl R H Hr A R H e S K

209



TeH (1/3m) GE%Mw%MMMWMMMM&M%MMmm
0gH |00 €070 9070 €070 €00 €070 7070 900 €00 5070 5070 5070 5070 900 5070 (1/8m) HEA Q2L 0WT 4= L] 0¢H
62H |~ - - - - - - - - - - - - - (1/3w) AALTOd A1 62H
scH |© 0 0¢ I 0 0 0 g ! ! 0 02 0 0 0 (1u/kh) (A H L3R HIN3ELE | 8cH
L2H V1= LT- 1T €T~ €T~ 9T~ ST~ €T~ LT €T~ VT- 9T~ €T~ TT- €= (1/8uw) (S L (&7 L) TFHE|LTH
928 [0S 2 el 1971 0971 CE 1871 VL €571 teL 0571 VL 65 L 1570 1971 29°L HHd|9zH
ozg [T0 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 170> 1°0> 1°0> (1/8u) | oz g
vzE |dal 901 Vel TET el TET el Vel 81T VIl Za 60T 90T et STT (1/3m) h 35| v
ezl |1 T T T T T T T T T T T T T T (NO L) x| ezt
7zH |60 0> Al 01 L0 L0 50> 870 670 0T 870 870 0T 1T zT (1/30)  (BEHT 4 (Ll g7 ~T) | gl
12H |~ - - - - - - - - - - - - - (1/3w) AU L—TAL L~V AL ¥ | 1CH
0cH | - - - - - - - - - - - - - - (1/3m) AgTonog i-1TT|02H
61H |91 T 97 9T ¢T 27 T CT €T 81 VT 97 ¢T 61 VT (1/8u) waaEm| 61 H
gTH [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00 0> [T00 0> (1/8w) GG Ay 020 A e ~| 8TH
LTH |€728 8TV §709 L7es 878¢ 0°L8 9718 0°L8 cvy 9LV 1°6V 8TV 0767 §709 N (1/5u) (Gl &Tarksr “TLAUE|LTH
91H |80 S0 T 970 S0 970 970 870 870 [ 0T 870 670 670 L0 (1/3m) el 9T H
ST B 4 S wER| o1 H
YIH [600°0  [100°0> [€00°0 |- 100°0> [~ - 1000 |- E €000 |- 200’0 |- - (1/3m) A—co R v H
eTg [100°0> [T00°0> [T00°0> [~ 100°0> [+ - 100°0> |- - 100°0> [+ 100°0> [+ (1/8u) A (= ALongi|elH
eig |- - - - - - - - - - - - - - - (1/3w) SR | 2Tl
oTH [90°0> 900> [90°0> |- 900> [~ - 900> |- E 90°0> |- 90°0> |- (1/8u) WEmH| 01 H
68 |- - - - - - - - - - - - - - - (1/8w) (U2 ~A£T-T0) Qg L) 6H
8H |~ - - - - - - - - - - - - - (1/8u) <A | 8H
sH |- - - - - - - - - - - - - - - (1/8w) AgTooga-gl 6H
¢g [100°0> [T00°0> [100°0> [+ 100°0> [+ - 100°0> |- - 100°0> [+ - 100 0> (1/8u) GHENO2rONA 4 <=| ¢H
cH | - - - - - - - - - - - - - - (1/3m) HoAN020NH " £q| TH
TH |~ - - - - - - - - - - - - - (1/3w) HEAD2XOH A x£L£7L| TH
0°LT 0L A c el 076 0L 611 Clal €61 ¢ 9 052 6°1¢C 1728 L761 A ) m
06T ¢t 571 1°g TV ¢t vy 611 9712 782 §71¢E §°0¢2 8702 S 761 €01 ) mp
= - - i &= F & 5 F F L = = = BRI X H IR
- - - 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 L
ZES o Y HS8HE | H8HGZ | HZIHT | HLHZT [HOTHIT|HZTHOT| HLH6 | HITHS | HETHL | H8H9 | HSTHS | HETHT H KN4
Flo g MOV B - SRS

FHHEY U

A XL H i E H Ok

210



TeH (1/3m) GE%Mw%MMMWMMMM&M%MMmm
0gH [20°0 10°0>  [V0°0 10°0 10°0 10°0>  [10°0 200 10°0>  [€070 7070 200 7070 200 10°0 (1/8m) GO O2ONNT La=xAL| 0H
62H |~ - - - - - - - - - - - - - - (1/3w) AALTOd A1 62H
scH |0 0 ¢ 0 0 0 0 0 0 ¢ 0 0 0 0 0 (1u/kh) (A H L3E) BT scH
L2H V1= LT- CT- VT- ST~ VT- VT- VT- LT ¢T- zT- 9T~ VT- 9°T- §T- (1/8uw) (S L (&7 L) TFHE|LTH
928 [e€ L ) oL 65 L 1871 vEL WL oL ST°L 9L S€°L LTl 1271 6L V€L HH | 9zE
ozg [T0 1°0> 170> 1°0> 170> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 1°0> 170> 1°0> 1°0> (1/8u) | oz g
vzl |91 70T el €C1 el 8T1 01T 611 121 STT 91T 60T 50T et [z (1/3m) h 35| v
ezl |1 T T T T T T T T T T T T T T (NO L) x| ezt
zzE 90 0> 0T 970 S0 570> 50 970 870 970 670 870 0T L0 50> (1/30)  (BEHT 4 (Ll g7 ~T) | gl
12H |~ - - - - - - - - - - - - - - (1/3w) AU L—TAL L~V AL ¥ | 1CH
0cH | - - - - - - - - - - - - - - (1/3m) AgTonog i-1TT|02H
6TH [LV 8% 6L 07 Ly 8¢ LS 8¢ 87 €°¢ 877 8T 6°L L7l 0°L (1/8u) waaEm| 61 H
gTH [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00°0> [T00 0> [T00 0> (1/8w) GG Ay 020 A e ~| 8TH
LTH 9778 0°LY L1765 K L1765 VLS CH T 7708 695 178 0LV T V8% VIS (1/8u) (Gl &Tarksr “TLAUE|LTH
91H |20 970 670 970 970 970 970 L0 L0 6°0 870 870 870 870 970 (1/3m) el 9T H
ST B 4 S wER| o1 H
$TH |100°0> [T00°0> [100°0> [~ 100°0> [~ - 100°0> |- E 100°0> [~ 100°0> [~ - (1/8m) A—Lo YR VTH
eTg [100°0> [T00°0> [T00°0> [~ 100°0> [+ - 100°0> |- - 100°0> [+ 100°0> [+ - (1/8u) A (= ALongi|elH
eig |- - - - - - - - - - - - - - - (1/3w) SR | 2Tl
oTH [90°0> 900> [90°0> |- 900> [~ - 90°0> |- E 90°0> |- 90°0> |- - (1/8u) WEmH| 01 H
68 |- - - - - - - - - - - - - - - (1/8w) (U2 ~A£T-T0) Qg L) 6H
8H |~ - - - - - - - - - - - - - - (1/8u) <A | 8H
sH |- - - - - - - - - - - - - - - (1/8w) AgTooga-gl 6H
¢g [100°0> [T00°0> [100°0> [+ 100°0> [+ - 100°0> |- - 100°0> [+ - 100°0> |- (1/8u) GHENO2rONA 4 <=| ¢H
cH | - - - - - - - - - - - - - - (1/3m) HoAN020NH " £q| TH
TH |~ - - - - - - - - - - - - - - (1/3w) HEAD2XOH A x£L£7L| TH
¢ Ll Ve 8797 01T $8 Ve 00T 872l v 61 $°5C 8797 ¢ e 0°€2 €°1¢ T°ET ) m
9761 €7 62¢ 19 0°¢ €7 19 ¢ el 6712 1°8¢C 62¢ 1°0¢ 43 661 ¢ o1 ) mx
- - - ] F F Ll L] F F Ll ] Ll ] BRI MY H
- - - 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 L
ZES o Y HS8HE | H8HGZ | HZIHT | HLHZT [HOTHIT|HZTHOT| HLH6 | HITHS | HETHL | H8H9 | HSTHS | HETHT H KN4
ETE s A A R

FHHEY U

A XL H i E H Ok

211



2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>]— 3000 0> 2000 0> LA L7 L] 09%]
€00 0> £00 0> £00 05— £00 00— - 200 00— - - WL F | —E L FL]655
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - - LA L LE VL] 8%
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 0> |- - - T Lo L] LG
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - - N = L L] 9G]
= = = = = = = = = — L LAFLLFANLLONATE L1~ € L5955
800 0> 800 0> 800 0> 800 0> - 800 0>]— - - A O V& VSHE
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - - NI TARE
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0> (L X< eswu
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 00— - - N —=— £ &[TS%
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - - (1 ¥ 5 LA 0%H
£0000 0>| __£0000 091000 0 £0000 0>| __£0000 0> __€0000 0>] __€0000 0>| __€0000 0>] __£0000 05| __£0000 0>]- £0000 "0>[91000 "0 (LV D) AL = 7~ 6Vad
90000 0> 90000 0> __ 90000 0> 90000 05— - 90000 0] - - VL L LSO 2|8l
60000 0>| 60000 0> 60000 05— 60000 0> - 60000 0> |- - - VAKX LA L]
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - - L — AN L L LV
G0000 0>| 50000 0> 50000 05— G0000 0>~ - G0000 0>|— - - C A AL £T) AL AL & STl
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - - LA 4 & vrad
80000 0>| 80000 0> 80000 05— 80000 0>~ - 80000 0> |- - - (dAAA) L WA o 4 L] evad
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - - (NG DA =t 7 L] oval
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 0> |- - - (MNO Q) ~ o 4| Tvad
£0000 0> __£0000 0> __€0000 0> £0000 0>[- - £0000 0>|— - - (AVXO) ¥ W7 LA 0Vl
G0000 0>| 50000 0> 50000 05— G0000 0> - 50000 0>|— - - AL LR 685
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - - (Nd DA =0 £ oo 4|86
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0>|— - - Y (A O 4| LER
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - - (AND) A= o =Ao 47]|98%
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>|— - - L A0/ ¥ O4]|S6u
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— - 2000 0> J L A4 | vead
20 0> 20 0> 20 0> 20 0> - 20 00— - - ;
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0>
€00 0> £00 0> £00 00— £00 00— - €00 0>]— - - AL L A | TeH]
G0000 0> 50000 0> __G0000 0>] __S0000 0>] 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| _G0000 0> _G0000 0>]- 50000 0> 50000 0> (NOV) <X Z 4 7 Xx|06%
G0000 0>| 50000 0> 50000 0>] __G0000 0>| 50000 0>| 50000 0>| __G0000 0>] __G0000 0>| 50000 0> _ G0000 0>[- 50000 0> 50000 0> L LA 605
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - - (O VN) A (x4 IE| 853
- - = = = = - = - L~ GAC| LeE]
80000 0>| 80000 0>] 80000 0>] 80000 0>| 80000 0>] 80000 0> 80000 0>] 80000 0>| _ 80000 0> 80000 0>]- 80000 0> 80000 0> A—d Y AT 2|95
10000 05| 10000 05| __10000 0>|- 10000 05— - 10000 0>|— - - M e ] GO
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - - Ao Y4 (K| Vou
G000 0> G000 0> 5000 0>|— 5000 0> |- - G000 0>|- - - (MESH B ME <2 e k| €05
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - - AN O g S K TR
1000 0> 1000 0> 1000 0> 1000 0>]— - 1000 0>]— - - (CAT i) AL AL x| 165
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - - Y 4 ~OL AT £ T| 065
£000 0> £000 0> €000 0>|— £000 0>|— - £000 0>|— - - LA O L | 6150
60000 0>| 60000 0>] 60000 0> 60000 0> |- - 60000 0>|— - - AL L5 )| 8T
90000 '0>[__90000 0> __90000 05— 90000 0> [~ - 90000 0] - - RS2 ZENINt:|
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - - (dd D 2oLz |95
€00 0> £00 0> £00 00— €00 0>|— - €00 0>]— - - (Ld D AckLars )|
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - - QOdIN) LAV L OrLl | Via]
10000 05| 10000 0>| __10000 0>|- 10000 05— - 10000 0>|— - - YA E LS
G0000 0> 0000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0> 50000 0> AL I eTE
£000 0> £000 0> £000 0>|— £000 0>|— - £000 0>|— - - N —o g £ L] 1Tl
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - - Y L L]01%]
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - - Y o= | 65
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - - Y EPAEY
90000 '0>|__90000 0> __90000 05— 90000 0>~ - 90000 0] - - N—T L] 5]
600 0> 600 0> 600 0> 600 0> - 600 0>]— - - T LT L] 9%
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>|— - - V d OIN| G5
70000 0> #0000 0> #0000 0> 70000 05— - 70000 0> |- - - N d | vad
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0> |- - - (Vd-—Vvod—7 gl el
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - - o) VAdAd—26 70| ol
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>]— - - (A-Q) i~ ong—¢ 1] 15
0611 GE:01 05:01 02:01 GE:01 02:51 90:01 - G7:6 05:01 [ZECH
H8H6 HSTHS HCIHS HIZHL HOHL H2oH9 H6H9 - HSGHS HVIHT H b
[GFS NE Y H6 H S8 H L 9 HS Hv \‘\ pic
FAyang s GO EOY GO SR (1/3w) G W EeSRH

212



900 10°0>[82 ‘0 10°0> 10°0> 10°0> 10°0> 10°0>{90 "0 610 - 82 0 S0°0 (H) ey BFHY) BeSRal] s1H
80000 "0 §0000 "0>[{9¥000 "0 §0000 "0> §0000 0> §0000 "0> §0000 0> §0000 "0> §0000 "0>{62000 "0 - 9¥000 "0 §0000 0> =k VI
100 °0> 100 °0> 100 °0>[— 100 °0>[— - - 100 °0>]— - - A= L X [e1T5]
3000 "0> 2000 '0> 3000 "0> 2000 '0> 3000 "0> 2000 '0> 3000 "0> 2000 '0> 3000 "0> 2000 "0>[- 2000 '0> 5000 "0> N A LT L X115
£000 '0> €000 0> €000 "0>[— €000 "0>[— - - €000 "0>[- - - L0 AITTE
7000 "0> 7000 "0> 7000 "0>[- 7000 "0>[- - - 7000 "0>[- - - A AN /3 £0TTH
0000 "0> 70000 0> 0000 "0>]— 0000 "0>]— - - 70000 0>]— - - (d LINA) < ¥E£ 4 £ L6015
300 °0> 200 0> 300 0> 300 0> = - 200 '0>]— = - AR £ & X80T
£000 '0> €000 0> €000 "0>[— €000 "0>[— - - €000 "0>[- - - AT L X|LOTHT
§000 "0> G000 '0> §000 "0>[- §000 "0>[- = - §000 "0>[- = - (ddON) L4 oL ¥[90T5
200 0> 200 0> 200 0> 200 0> - - L00 °0>]- - - (N[ Lx) AL £ A[G0T5
§0000 0> §0000 "0> §0000 "0>[- §0000 "0>[- = - §0000 "0>[- - - N —a L £ vOoTHS
2000 0> 2000 "0> 2000 "0>[— 2000 "0>[— - - 2000 "0>[— - - N —31 £ 26015
1000 0> 1000 0> 1000 "0>[- 1000 "0>[- = - 1000 "0>]— = - (R L0 e xr) A1 LAL A |50T 5]
7000 "0> 7000 '0> 7000 "0>{— 7000 "0>[— - - 7000 "0>|— - - LA L L1015
€00 °0> €00 0> €00 0> €00 0> - - €00 0>~ - - A0 & LY LA |00TH
300 0> 200 0> 300 0> 200 0> 300 0> 200 0> 300 0> 200 0> 300 0> 200 0>]- 200 0> 300 0> AL x| 663
§0000 0> §0000 "0> §0000 "0>[- §0000 "0>[- = - §0000 "0>[- = - LA LT LA 865
6000 "0> 6000 "0> 6000 "0>[— 6000 "0>[— - - 6000 "0>[- - - A0 4 AA L | L6
100 °0> 100 0> 100 "0>[- 100 "0>[- = - 100 °0>]— = - A0 4 2] 965
2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 5000 "0>[- 2000 0> 2000 0> AT > 565
100 °0> 100 °0>]100 0 100 0> 100 °0> 100 0> 100 °0> 100 0> 100 °0> 100 °0>]— 1000 100 °0> Jd£LFa L V6H
§000 '0> S000 0> S000 "0>[— S000 "0>[— - - G000 "0>[- - - AU — A0 L] 665
§000 "0> G000 '0> §000 "0>[- §000 "0>[- = - §000 "0>[- - - d T HhAdL]|C6H
$000 "0> S000 '0> S000 "0>[— S000 "0>[— - - G000 "0>[- - - VU=~ A 0 L] 165
- - - - - - - - - - Y\ ¥ £ 0 Z]063] |
6000 "0> 6000 "0> 6000 "0>[— 6000 "0>[— - - 6000 "0>[— - - A T A0 ]683
§000 "0> G000 '0> §000 "0> G000 '0> §000 "0> G000 "0> §000 "0> G000 '0> §000 "0> §000 "0>[- G000 '0> §000 "0> AU—O 4 ££1L]88%
£000 '0> €000 °0> €000 "0>[— €000 "0>[— - - €000 "0>[- - - AL LN L] L8H
3000 "0> 2000 '0> 2000 "0>[- 2000 "0>[- = - 2000 "0>[- = - AT L 0L L]98%
2000 0> 2000 0> 2000 "0>[— 2000 "0>[— - - 2000 "0>[- - - VMY £ L] S8
€000 °0> €000 '0> €000 "0> €000 '0> €000 "0> €000 '0> €000 "0> €000 '0> €000 °0> €000 "0>[- €000 '0> €000 °0> A —0 4 & L] V8%
100 °0> 100 °0> 100 °0>[— 100 °0>[— - - 100 °0>]— - - R YA
1000 0> 1000 0> 1000 "0>[- 1000 "0>[- = - 1000 "0>]— - - A I AT L]78%
20000 "0> L0000 '0> 20000 "0>]— 20000 "0>]— - - 20000 "0>|— - - (dVvd)|—= A= L[18%
90000 "0> 90000 0> 90000 "0>[- 90000 "0>[- = - 90000 0>]— = - (d dIN) A KL AF £]08%
= = = = = = = = = = AL (= L]6LF
€000 0> €000 0> €000 "0>[~ €000 0>]- - - €000 °0>]- - - (OWd ) LALL (= L] 8151
1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 °0>|- 1000 0> 1000 "0> (dAN) A kLo == [LL3]
20000 "0> 20000 "0> 20000 "0>[- 20000 "0>[- = - 20000 "0>[- = - A=a L ¥ L]9LFE
§000 '0> S000 0> §000 '0> S000 0> §000 '0> S000 0> §000 '0> S000 0> §000 "0> G000 "0>[- S000 0> §000 '0> A oxoA|sLE
3000 "0> 2000 '0> 2000 "0>[- 2000 "0>[- - - 2000 "0>[- - - LA L L A|VLE
20000 0> 20000 '0> 20000 "0>]— 20000 "0>]— - - 20000 "0>|— - - AHKLATLL (A ELFE
3000 "0> 2000 '0> 2000 "0>[- 2000 "0>[- = - 2000 "0>[- - - A=k aAcAleLH
0000 "0> 70000 0> 0000 "0> 70000 0> 0000 "0> 70000 0> 0000 "0> 70000 0> 0000 "0> 70000 "0>]- 70000 0> 0000 0> AT LAXALALA|TLE
- - - - - - - - - - =0 g Z£A| 005 |
10000 "0> 10000 0> 10000 0> 10000 0> - - 10000 "0>[— - - o dsA | 69%
§0000 0> §0000 "0> §0000 "0> §0000 "0> $0000 0> §0000 "0> §0000 0> §0000 "0> §0000 0> §0000 "0>[- = §0000 0> N —r £y 89%
£000 '0> €000 0> €000 "0>[— €000 "0>[- - - €000 "0>[- - - Sycd L] L9%
9000 "0> 9000 '0> 9000 "0>[- 9000 "0>[- = - 9000 "0>]— = - A EAUL 995
100 °0> 100 °0> 100 °0>[— 100 °0>[— - - 100 °0>]— - - N—L L4720 595
1000 0> 1000 0> 1000 "0>[- 1000 "0>[- = - 1000 "0>]— - - (ddd) A 4 (i V9%
100 °0> 100 °0> 100 °0>[— 100 °0>[— - - 100 °0>]— - - A4 €95
3000 "0> 2000 '0> 2000 "0>[- 2000 "0>[- - - 2000 "0>[- - - (OINd dIN) LA, LACL] T9%!
80000 0 $0000 '0>[{5€000 "0 $0000 '0> $0000 "0> $0000 '0> §0000 "0> S0000 '0>{11000 "0 92000 0 - §€000 0 §0000 "0> AX AL L]T19%]
0€:1T §e:01 02:0T 02:01 Gge:01 03:¢1 90:0T = GV:6 05:01 %% e N K
H8H6 HS8THS HZIHS HLZHL HI9HL HZZH9 H6H9 - HSZHS HYTHV H K
[GFS 3 Y H6 H S8 H L H9 HS Hv SN
Flrongs GO EOY GO SR (1/9W) 345G MBSy

213



2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>]— 3000 0> 2000 0> LA L7 L] 09%]
€00 0> £00 0> £00 05— £00 00— - 200 00— - WL F | —E L FL]655
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - LA L LE VL] 8%
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 0> |- - T Lo L] LG
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - N = L L] 9G]
= = = = = = = = — L LAFLLFANLLONATE L1~ € L5955
800 0> 800 0> 800 0> 800 0> - 800 0>]— - A O V& VSHE
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - NI TARE
€000 0> £000 0>]8000 0 £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— 8000 0 €000 0> (L X< eswu
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>]— - N —=— £ &[TS%
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - (1 ¥ 5 LA 0%H
£0000 0>| __£0000 0>[£0000 0 £0000 0>| __£0000 0| __€0000 0>] __€0000 0>| 0000 0>| __£0000 0>|€0000 0 - £0000 0>|__£0000 0> (LV D) AL = 7~ 6Vad
90000 0> 90000 0> __ 90000 0> 90000 05— - 90000 0] - AL L L O | 873
60000 0>| 60000 0> 60000 05— 60000 0> - 60000 0> |- - VAKX LA L]
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - L — AN L L LV
G0000 0>| 50000 0> 50000 05— G0000 0>~ - G0000 0>|— - C A AL £T) AL AL & STl
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - LA 4 & vrad
80000 0>| 80000 0> 80000 05— 80000 0>~ - 80000 0> |- - (dAAA) L WA o 4 L] evad
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - (NG DA =t 7 L] oval
2000 0> 2000 0> 2000 0>|— 2000 0>]— - 2000 0> |- - (MNO Q) ~ o 4| Tvad
£0000 0> __£0000 0> __€0000 0> £0000 0>[- - £0000 0>|— - (AVXO) ¥ W7 LA 0Vl
G0000 0>| 50000 0> 50000 05— G0000 0> - 50000 0>|— - AL LR 685
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (Nd DA =0 £ oo 4|86
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0>|— - Y (A O 4| LER
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - (AND) A= o =Ao 47]|98%
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>|— - -V VA
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— - 2000 0> J L A4 | vead
20 0> 20 0> 20 0> 20 0> - 20 00— - ;
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0>
€00 0> £00 0> £00 00— £00 00— - £00 0>|— - AL L A | TeH]
G0000 0> 0000 0>[61000 0 G0000 0>| 50000 0> __G0000 0>] __G0000 0»| 0000 0> __G0000 0> __G0000 0>]- 21000 0 50000 0> (NOV) A= £ 4 7 x| 083
G0000 0>| 50000 0> _ 50000 0>] __G0000 0>| 50000 0>| 50000 0> _ G0000 0>] __G0000 0>| _ 0000 0> _ G0000 0] 50000 0>| 50000 0> L LA 603
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (O VN) A (x4 IE| 853
- - = = = = - = L~ GAC| LeE]
80000 0>| 80000 0>] 80000 0>] 80000 0>| 80000 0>] 80000 0> 80000 0>] 80000 0>| _ 80000 0> 80000 0>]- 80000 0> 80000 0> A—d Y AT 2|95
10000 05| 10000 05| __10000 0>|- 10000 05— - 10000 0>|— - M e ] GO
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - Ao Y4 (K| Vou
G000 0> G000 0> 5000 0>|— 5000 0> |- - G000 0>|- - (MESH B ME <2 e k| €05
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AN O g S K TR
1000 0> 1000 0> 1000 0> 1000 0> - 1000 0> - (CAT i) AL AL x| 165
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - Y 4 ~OL AT £ T| 065
£000 0> £000 0> €000 0>|— £000 0>|— - £000 0>|— - LA O L | 6150
60000 0>| 60000 0>] 60000 0> 60000 0> |- - 60000 0>|— - AL L5 )| 8T
90000 '0>[__90000 0> __90000 05— 90000 0> [~ - 90000 0] - RS2 ZENINt:|
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - (dd D 2oLz |95
€00 0> £00 0> £00 00— €00 0>|— - €00 0>]— - (Ld D AckLars )|
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - QOdIN) LAV L OrLl | Via]
10000 05| 10000 0>| __10000 0>|- 10000 05— - 10000 0>|— - YA E LS
G0000 0> 0000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0> 50000 0> AL I eTE
£000 0> £000 0> £000 0>|— £000 0>|— - £000 0>|— - N —o g £ L] 1Tl
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y L L]01%]
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - Y o= | 65
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y EPAEY
90000 '0>|__90000 0> __90000 05— 90000 0>~ - 90000 0] - N—T L] 5]
600 0> 600 0> 600 0> 600 0> - 600 0>]— - T LT L] 9%
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>|— - V d OIN| G5
70000 0> #0000 0> #0000 0> 70000 05— - 70000 0> |- - N d | vad
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0> |- - (Vd-—Vvod—7 gl el
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - o) VAdAd—26 70| ol
G000 0> 5000 0> G000 0>|— G000 0>]— - 5000 0>]— - (A-Q) i~ ong—¢ 1] 15
G7:8 00:6 00:6 G7:8 00:6 G7:8 G7:8 - G7:8 G7:8 [z 20N
H8H6 HSTHS HCIHS HIZHL HOHL H2oH9 H6H9 - HSGHS HVIHT H b
[GFS NE Y H6 H S8 H L 9 HS Hv \‘\ pic
Fldoup s P S A L A 2 (1/3W) 3K R B EE R

214



310 10 °0>[€S°0 10 °0>{20 "0 10 °0> 10 0> 10 °0>(80 "0 £5°0 — ¥ 0 200 (H) ey BFHY) BeSRal] s1H
S0000 0> S0000 "0>]ST000 0 S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 "0>]01000 "0 - S1000 "0 S0000 0> N = (VI
100 0> 100 "0> 100 "0>|— 100 "0>|— — — 100 "0>|— — — A= L ¢[eTTH
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 "0>|- 3000 0> 2000 0> N A QL= £ XT3
£000 0> £000 0> £000 "0>|— £000 "0>|— — — £000 '0>|— — - ALL (] AT
7000 "0> 1000 "0> 7000 "0>|- 7000 "0>|- - = 7000 "0>|- - = A Aoy ¥ /Iy X|01TH
70000 0> 70000 0> 70000 "0>|— 70000 "0>|— — — 70000 "0>|— — - (d LINA) ~E-£4 £ X[6015]
200 0> 300 0> 200 °0>[— 200 °0>[— - - 300 °0>|— - - AR X L & X |80TH
£000 ‘0> £000 0> £000 "0>|— £000 "0>|— — — £000 '0>|— — — AT X [L0TH
G000 0> S000 0> S000 "0>|- S000 "0>|- - - S000 "0>|— - - (ddON) LA 0L X|90TH
1,00 "0> 100 "0> L00 "0>|— L00 "0>|— — — 1,00 "0>[- - - (L Lx) £ £ 2501 %]
S0000 0> S0000 0> S0000 "0>[— S0000 "0>[— - - S0000 0> - - N — 3 LL Y V0T
000 ‘0> 1,000 0> L000 "0>|— L000 "0>|- — — 1,000 "0>|— — - N —a1 £ A [e01H
1000 "0> 1000 0> 1000 "0>|- 1000 "0>|- - - 1000 0> - - (LAY ) A (| £AL 7|00 5
7000 0> 7000 "0> 7000 "0> |- 7000 0> |- — — 7000 "0> (- - - LA L L 71015
£00 0> £00 0> £00 °0>[— £00 °0>[— - = £00 °0>|— - = A& X8 L5001
200 "0> 200 "0> 200 "0> 200 "0> 200 "0> 200 "0> 200 "0> 200 "0> 200 "0> 200 0> (- 200 "0> 200 "0> AL x| 663
S0000 0> S0000 0> S0000 "0>[— S0000 "0>[— - - S0000 0> |- — — LA T L L0 863
6000 ‘0> 6000 0> 6000 "0>|— 6000 "0>|— — — 6000 "0>|— — — A0 4 AL | L6%]
100 °0> 100 "0> 100 "0>|— 100 "0>|— - - 100 °0>]- - — A0 4 270963
2000 ‘0> 2000 0> £000 0 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 ‘0> 2000 '0>|— 2000 0> £000 0 AT x| S6%
100 °0> 100 °0>1200 "0 100 "0> 100 °0> 100 "0> 100 °0> 100 "0> 100 °0> 100 "0>]- 1,00 "0 100 °0> Jd L0 L(ve3H
G000 0> G000 0> G000 0> |- G000 0> |- — — G000 '0>|— — — A — x> L] 663
G000 0> S000 0> S000 "0>|- S000 "0>|- - - S000 "0>|- - = NI E=VA K
G000 0> G000 0> G000 0> |- G000 "0>|— — — G000 '0>|— — — AU— Ao L] 165
- - - - - - - - - - - Y\ ¥ £ 0 Z]063] |
6000 ‘0> 6000 0> 6000 "0>|— 6000 "0>|— — — 6000 "0>|— - - A T Ao L] 68%
G000 0> S000 0> G000 0> S000 0> G000 0> S000 0> G000 0> S000 0> G000 0> S000 "0>|— S000 0> G000 0> A — O 4 £ L1 L]88%F
£000 0> £000 0> £000 "0>|— £000 "0>|— — — €000 '0>|— — - T LR L] L8
2000 0> 3000 0> 2000 "0>|- 2000 "0>|- - - 3000 "0>|- - - AT 0L L] 98%
2000 0> 2000 0> 2000 "0>|— 2000 "0>|— — — 2000 '0>|— — — v ALY £ L] 68
£000 0> £000 0> £000 0> £000 0> £000 0> £000 0> £000 0> £000 0> £000 0> £000 '0>|- £000 0> £000 0> A —O 4 & L VSH
100 0> 100 "0> 100 "0>|— 100 "0>|— — — 100 "0>|— — — A L] e8H
1000 "0> 1000 0> 1000 "0>|- 1000 "0>|- - - 1000 "0>]|— - = A S AL AT L]T8%H
L0000 0> L,0000 0> L0000 "0>|— L0000 "0>|— — — L0000 "0>[- — - (dVd) —= A= 2]18%
90000 0> 90000 0> 90000 "0>[— 90000 "0>[— - - 90000 "0>[- - - (d dIN) 2 KL= L] 087
= = = = = = = = = = = AL (= L]6LF
€000 0> €000 0> €000 "0>[~ €000 0>]- - - €000 0>]= - - (OWd ) LALL (= L] 8151
1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 0> 1000 "0> 1000 0> |- 1000 0> 1000 "0> (dAN) ~ kLo == LLE
20000 0> 30000 0> 20000 "0>[— 20000 "0>[— - - 30000 0> - — A=V ]9
G000 0> G000 '0>|8000 "0 <000 0> G000 0> G000 0> G000 0> G000 0> G000 "0>{8000 ‘0 — G000 0> G000 0> ~oxoAlsLE
2000 0> 3000 0> 2000 "0>|- 2000 "0>|- - = 3000 "0>|- - = LAL L L (A VLHE
20000 0> 20000 0> 20000 "0>|— 20000 0>|— — — 20000 "0>[- — — AKLATLL (A|CLFE
2000 0> 3000 0> 2000 "0>|- 2000 "0>|- - - 3000 "0>|- - = LA =k AL£A[TLHE
70000 0> 70000 0> 70000 0> 70000 0> 70000 0> 70000 0> 70000 0> 70000 0> 70000 0> 70000 "0>|- 70000 0> 70000 0> AT LAXALA|TLE
- - - - - - - - - - - =0 g Z£A| 005 |
10000 ‘0> 10000 0> 10000 "0>|— 10000 "0>|— — — 10000 "0>|— — - v L oA 693
S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> S0000 0> — S0000 0> | —= £y/[89%
£000 ‘0> £000 0> £000 "0>|— £000 "0>|— — — €000 '0>|— — - Sy L] L9%
9000 0> 9000 "0> 9000 "0>|- 9000 "0>|- - - 9000 "0>]— - - A (L L 995
100 0> 100 '0> 100 "0>|— 100 "0>|— — — 100 "0>|— — — N—KL 42 (1 G935
1000 "0> 1000 0> 1000 "0>|- 1000 "0>|- - - 1000 "0>]|— - - (ddd) a4 (i V9%
100 0> 100 '0> 100 "0>|— 100 "0>|— — — 100 "0>|— — — AAT 4 (1 9%
2000 0> 3000 0> 2000 "0>|- 2000 "0>|- - = 3000 "0>|- - = (OINd dIN) LA LA0L] T
02000 ‘0 SG0000 '0>{2.6000 "0 S0000 '0>{S0000 ‘0 S0000 0> G0000 0> S0000 '0>{LT000 "0 16000 "0 — 85000 "0 S0000 0> AX AL L]T19%]
Sh:8 00:6 00:6 S8 00:6 S8 Sh:8 — Sh:8 S8 (%5004
HSH6 HSIHS HZIHS HLCHL H9HL HZ2H9 H6H9 — HSZHS HYIHTV H K
[GFS 3 Y H6 H S8 H L H9 HS Hv SN
Fldoup s NG| (AL B (L SR (1/3W) 3 PN MY e

215



2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>]— 3000 0> 2000 0> LA L7 L] 09%]
€00 0> £00 0> £00 05— £00 00— - 200 00— - WL F | —E L FL]655
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - LA L LE VL] 8%
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 0> |- - T Lo L] LG
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - N = L L] 9G]
= = = = = = = — L LAFLLFANLLONATE L1~ € L5955
800 0> 800 0> 800 0> 800 0> - 800 0>]— - A O V& VSHE
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - NI TARE
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0> (L X< eswu
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>]— - N —=— £ &[TS%
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - (1 ¥ 5 LA 0%H
£0000 0>| __£0000 0> __€0000 0>] __£0000 0>] 0000 05| __£0000 0>| __£0000 0>] __£0000 0>| _ £0000 0> _ £0000 0>|- £0000 05| __£0000 0> (LV D) AL = 7~ 6Vad
90000 0> 90000 0> __ 90000 0> 90000 05— - 90000 0] - AL L L O | 873
60000 0>| 60000 0> 60000 05— 60000 0> - 60000 0> |- - VAKX LA L]
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - L — AN L L LV
G0000 0>| 50000 0> 50000 05— G0000 0>~ - G0000 0>|— - C A AL £T) AL AL & STl
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - LA 4 & vrad
80000 0>| 80000 0> 80000 05— 80000 0>~ - 80000 0> |- - (dAAA) L WA o 4 L] evad
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - (NG DA =t 7 L] oval
2000 0> 2000 0> 2000 0>|— 2000 0>]— - 2000 0> |- - (MNO Q) ~ o 4| Tvad
£0000 0> __£0000 0> __€0000 0> £0000 0>[- - £0000 0>|— - (AVXO) ¥ W7 LA 0Vl
G0000 0>| 50000 0> 50000 05— G0000 0> - 50000 0>|— - AL LR 685
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (Nd DA =0 £ oo 4|86
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0>|— - Y (A O 4| LER
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - (AND) A= o =Ao 47]|98%
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>|— - -V VA
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— - 2000 0> J L A4 | vead
20 0> 20 0> 20 0> 20 0> - 20 00— - ;
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0>
€00 0> £00 0> £00 00— £00 00— - £00 0>|— - AL L A | TeH]
G0000 0> 50000 0> __G0000 0>] __S0000 0>] 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| _G0000 0> _G0000 0>]- 50000 0> 50000 0> (NOV) <X Z 4 7 Xx|06%
G0000 0>| 50000 0> 50000 0>] __G0000 0>| 50000 0>| 50000 0>| __G0000 0>] __G0000 0>| 50000 0> _ G0000 0>[- 50000 0> 50000 0> L LA 603
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (O VN) A (x4 IE| 853
- = = = = - = L~ GAC| LeE]
80000 0>| 80000 0>] 80000 0>] 80000 0>| 80000 0>] 80000 0> 80000 0>] 80000 0>| _ 80000 0> 80000 0>]- 80000 0> 80000 0> A—d Y AT 2|95
10000 05| 10000 05| __10000 0>|- 10000 05— - 10000 0>|— - M e ] GO
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - Ao Y4 (K| Vou
G000 0> G000 0> 5000 0>|— 5000 0> |- - G000 0>|- - (MESH B ME <2 e k| €05
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AN O g S K TR
1000 0> 1000 0> 1000 0> 1000 0> - 1000 0> - (CAT i) AL AL x| 165
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - Y 4 ~OL AT £ T| 065
£000 0> £000 0> €000 0>|— £000 0>|— - £000 0>|— - LA O L | 6150
60000 0>| 60000 0>] 60000 0> 60000 0> |- - 60000 0>|— - AL L5 )| 8T
90000 '0>[__90000 0> __90000 05— 90000 0> [~ - 90000 0] - RS2 ZENINt:|
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - (dd D 2oLz |95
€00 0> £00 0> £00 00— €00 0>|— - €00 0>]— - (Ld D AckLars )|
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - QOdIN) LAV L OrLl | Via]
10000 05| 10000 0>| __10000 0>|- 10000 05— - 10000 0>|— - YA E LS
G0000 0> 0000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0> 50000 0> AL I eTE
£000 0> £000 0> £000 0>|— £000 0>|— - £000 0>|— - N —o g £ L] 1Tl
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y L L]01%]
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - Y o= | 65
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y EPAEY
90000 '0>|__90000 0> __90000 05— 90000 0>~ - 90000 0] - N—T L] 5]
600 0> 600 0> 600 0> 600 0> - 600 0>]— - T LT L] 9%
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>|— - V d OIN| G5
70000 0> #0000 0> #0000 0> 70000 05— - 70000 0> |- - N d | vad
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0> |- - (Vd-—Vvod—7 gl el
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - o) VAdAd—26 70| ol
G000 0> 5000 0> G000 0>|— G000 0>]— - 5000 0>]— - (A-Q) i~ ong—¢ 1] 15
00:6 00:6 00:6 00:6 00:6 00:6 00:6 - 00:6 00:6 [ZECH
H8H6 HSTHS HCIHS HIZHL HOHL H2oH9 H6H9 - HSGHS HVIHT H b
[GFS NE Y H6 H S8 H L 9 HS Hv \‘\ pic
Flrongs GOV HVLOY SR (1/9W) ¥ G MBSy

216



10 0> 70 0> 10 0> 70 0> 10 0> 70 0> 10 0> 70 0> 10 0> 70 0>[- 70 0> 10 0> (Hyad BF YY) BRSERE] 61H
G0000 0> 50000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0>| 50000 0> =% (= [vT1TE]
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|— - A =0, A8l
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— 3000 0> 2000 0> I caL=c<o1iag
£000 0> £000 0> £000 0>|— €000 0>|— - £000 00— - AL G AT
7000 0> 7000 0> 7000 0>|— 7000 0>|— - 7000 0> |- - ~An ¥ /s Z[01%]
70000 0>| __¥0000 0> _ #0000 05— 70000 0>]— - 70000 0>|— - (d LN <K L5 £ L6015
200 0> 300 0> 200 0> 200 0> - 300 0>]— - VA% £ 4 L8015
£000 0> £000 0> £000 0>|— £000 0>|— - £000 00— - AT L X101
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (ddOW) L4~z £[9015]
100 0> 100 0> 100 0> 100 00— - 100 0>]— - (AL >) A £ L2501
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]- - T —a L L2 E[V015]
1000 0> 1000 0> 1000 0>|— 1000 0>|— - 1000 0>|— - N WA [
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - (L0 Y A (LA L 25015
7000 0> 7000 0> 7000 0>|— 7000 0>|— - 7000 0>|— - LA L £ 25 |T0T50
€00 0> £00 0> €00 0> €00 00— - €00 0>]= - (& L F L0015
200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> AL S| 665
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - LA LT L 865
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>]|— - 2O 4 AL | 165
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - O 4 A7 | 965
2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 05— 2000 0> 2000 0> A /| 65
100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 00— 100 0> 100 0> A=A I
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 00— - AN — O | 665
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - NI EEEVA 5
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>]— - NW—AfcAOL| 165
- - - - - - - Y\ ¥ £ 0 Z]063] |
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - ~J X A0/ 688
G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0>|— G000 0> G000 0> N —0 4 £ £ L]88%
£000 0> £000 0> €000 0>|— €000 0>|— - £000 00— - T L LA L L8
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AT 07 098]
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 05— - YL £ L] G8%]
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0> N —0 4 & L] V8HE
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|— - YA
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - NI YA RIA I
10000 0>| 20000 0> 20000 05— 10000 0>]— - 10000 0>|— - (dvd)I—={~<=-|18%
90000 0> 90000 0> 90000 0> 90000 0>[- - 90000 0] - (ddIN) A F£ <= £]08%
- - - - - - - ALT (= L|6L%
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - (OINd ) LAL L7 = £]|8L5]
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0>|— 1000 0> 1000 0> (dAdN) ~KEL£o] == 2| L1%]
20000 0>| 30000 0> 50000 0> 20000 05— - 30000 0>|— - =0, F £]|91%
G000 0> 5000 0> G000 0> 5000 0> G000 0> 5000 0> G000 0> 5000 0> G000 0> G000 0>|— G000 0> G000 0> O X oA SLa]
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - LALLL (A|VIE
20000 0>| 30000 0> _ 30000 05— 20000 0>~ - 20000 0>|— - AKLAT LG (A ELE
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AT =k ZAleE
70000 '0>] #0000 0>] #0000 0>] #0000 0>] %0000 0>] #0000 0>] #0000 0>] %0000 0>] %0000 0>| #0000 0>]- 70000 "0>] #0000 0> AT LA LLA T
- - - - - - - A=t 7 Z |03 |
10000 05| 10000 0>[ 10000 0>|- 10000 0>|— - 10000 0>|— - Y Moy A | 695
G0000 0> 50000 0> __G0000 0>] __S0000 0>] 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| _G0000 0> _ G0000 0>]- - 50000 0> | — £y/|89%]
£000 0> £000 0> €000 0>|— €000 0>|— - £000 00— - Syoo L L[L9%]
9000 0> 9000 0> 9000 0>|— 9000 0>|— - 9000 0>|— - 2 (AL (995
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|— - N— £ 47 (| 99%1
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - (ddQ) FAO 4 (| 19%]
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - EEYARIEE]
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - (O dIN) LA LACL| 5950
G0000 0>| 50000 0> _ 50000 0>] __G0000 0>] 50000 0>] 50000 0> _G0000 0>] __G0000 0>| _ 0000 0> _ G0000 0>[- G0000 0>] 0000 0> K GG Z L] 195
00:6 00:6 00:6 00:6 00:6 00:6 00:6 - 00:6 00:6 [ZECH
H8H6 HSTHS HZIHS HIZHL HOHZ H2oH9 H6H9 - HSGHS HvigHV H H
[GFS 3 Y H6 H S8 H L H9 HS Hv SN
FlATH L N DL GO WK (1/3w) 3 INE W E TR

217



2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>]— 3000 0> 2000 0> LA L7 L] 09%]
€00 0> £00 0> £00 05— £00 00— - 200 00— - WL F | —E L FL]655
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - LA L LE VL] 8%
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 0> |- - T Lo L] LG
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - N = L L] 9G]
= = = = = = = — L LAFLLFANLLONATE L1~ € L5955
800 0> 800 0> 800 0> 800 0> - 800 0>]— - A O V& VSHE
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - NI TARE
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0> (L X< eswu
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>]— - N —=— £ &[TS%
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - (1 ¥ 5 LA 0%H
£0000 0>| __£0000 0> __€0000 0>] __£0000 0>] 0000 05| __£0000 0>| __£0000 0>] __£0000 0>| _ £0000 0> _ £0000 0>|- £0000 05| __£0000 0> (LV D) AL = 7~ 6Vad
90000 0> 90000 0> __ 90000 0> 90000 05— - 90000 0] - AL L L O | 873
60000 0>| 60000 0> 60000 05— 60000 0> - 60000 0> |- - VAKX LA L]
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - L — AN L L LV
G0000 0>| 50000 0> 50000 05— G0000 0>~ - G0000 0>|— - C A AL £T) AL AL & STl
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - LA 4 & vrad
80000 0>| 80000 0> 80000 05— 80000 0>~ - 80000 0> |- - (dAAA) L WA o 4 L] evad
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - (NG DA =t 7 L] oval
2000 0> 2000 0> 2000 0>|— 2000 0>]— - 2000 0> |- - (MNO Q) ~ o 4| Tvad
£0000 0> __£0000 0> __€0000 0> £0000 0>[- - £0000 0>|— - (AVXO) ¥ W7 LA 0Vl
G0000 0>| 50000 0> 50000 05— G0000 0> - 50000 0>|— - AL LR 685
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (Nd DA =0 £ oo 4|86
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0>|— - Y (A O 4| LER
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - (AND) A= o =Ao 47]|98%
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0>|— - -V VA
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— - 2000 0> J L A4 | vead
20 0> 20 0> 20 0> 20 0> - 20 00— - ;
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0>
€00 0> £00 0> £00 00— £00 00— - £00 0>|— - AL L A | TeH]
G0000 0> 50000 0> __G0000 0>] __S0000 0>] 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| _G0000 0> _G0000 0>]- 50000 0> 50000 0> (NOV) <X Z 4 7 Xx|06%
G0000 0>| 50000 0> 50000 0>] __G0000 0>| 50000 0>| 50000 0>| __G0000 0>] __G0000 0>| 50000 0> _ G0000 0>[- 50000 0> 50000 0> L LA 603
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (O VN) A (x4 IE| 853
- = = = = - = L~ GAC| LeE]
80000 0>| 80000 0>] 80000 0>] 80000 0>| 80000 0>] 80000 0> 80000 0>] 80000 0>| _ 80000 0> 80000 0>]- 80000 0> 80000 0> A—d Y AT 2|95
10000 05| 10000 05| __10000 0>|- 10000 05— - 10000 0>|— - M e ] GO
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - Ao Y4 (K| Vou
G000 0> G000 0> 5000 0>|— 5000 0> |- - G000 0>|- - (MESH B ME <2 e k| €05
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AN O g S K TR
1000 0> 1000 0> 1000 0> 1000 0> - 1000 0> - (CAT i) AL AL x| 165
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - Y 4 ~OL AT £ T| 065
£000 0> £000 0> €000 0>|— £000 0>|— - £000 0>|— - LA O L | 6150
60000 0>| 60000 0>] 60000 0> 60000 0> |- - 60000 0>|— - AL L5 )| 8T
90000 '0>[__90000 0> __90000 05— 90000 0> [~ - 90000 0] - RS2 ZENINt:|
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - (dd D 2oLz |95
€00 0> £00 0> £00 00— €00 0>|— - €00 0>]— - (Ld D AckLars )|
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - QOdIN) LAV L OrLl | Via]
10000 05| 10000 0>| __10000 0>|- 10000 05— - 10000 0>|— - YA E LS
G0000 0> 0000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0> 50000 0> AL I eTE
£000 0> £000 0> £000 0>|— £000 0>|— - £000 0>|— - N —o g £ L] 1Tl
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y L L]01%]
£0000 0>| __£0000 0> __€0000 05— £0000 0>~ - £0000 0> |- - Y o= | 65
1000 0> 1000 0> 1000 0>[- 1000 0>~ - 1000 0] - Y EPAEY
90000 '0>|__90000 0> __90000 05— 90000 0>~ - 90000 0] - N—T L] 5]
600 0> 600 0> 600 0> 600 0> - 600 0>]— - T LT L] 9%
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>|— - V d OIN| G5
70000 0> #0000 0> #0000 0> 70000 05— - 70000 0> |- - N d | vad
G000 0> 5000 0> G000 0>|— G000 0>]— - G000 0> |- - (Vd-—Vvod—7 gl el
8000 0> 8000 0> 8000 0>|— 8000 0>|— - 8000 0>|— - o) VAdAd—26 70| ol
G000 0> 5000 0> G000 0>|— G000 0>]— - 5000 0>]— - (A-Q) i~ ong—¢ 1] 15
00:6 00:6 00:6 00:6 05:8 00:6 00:6 - 00:6 00:6 [ZECH
H8H6 HSTHS HCIHS HIZHL HOHL H2oH9 H6H9 - HSGHS HVIHT H b
[GFS NE Y H6 H S8 H L 9 HS Hv \‘\ pic
E R NI RN (BB WK (QEDIE TR

218



10 0> 70 0> 10 0> 70 0> 10 0> 70 0> 10 0> 70 0> 10 0> 70 0>[- 70 0> 10 0> (Hyad BF YY) BRSERE] 61H
G0000 0> 50000 0> __G0000 0>] __S0000 0>| 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| __G0000 0> _G0000 0>]- 50000 0>| 50000 0> = (Ve
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - e=vad Gt
2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0> 2000 0> 3000 0>|— 3000 0> 2000 0> I caL=c<o1iag
£000 0> £000 0> £000 0>|— £000 0>|— - £000 00— - AL G AT
7000 0> 7000 0> 7000 0>|— 7000 0>|— - 7000 0> |- - ~An ¥ /s Z[01%]
70000 0>| __¥0000 0> _ #0000 05— 70000 0>]— - 70000 0>|— - (d LN <K L5 £ L6015
200 0> 300 0> 200 0> 200 0> - 300 0>]— - VA% £ 4 L8015
£000 0> £000 0> £000 0>|— £000 0>|— - £000 00— - AT L X101
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - (ddOW) L4~z £[9015]
100 0> 100 0> 100 05— 100 00— - 100 0>|— - (AL >) A £ L2501
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]- - T —a L L2 E[V015]
1000 0> 1000 0> 1000 0>|— 1000 0>|— - 1000 0>|— - N WA [
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - (L0 Y A (LA L 25015
7000 0> 7000 0> 7000 0>|— 7000 0>|— - 7000 0>|— - LA L 271015
€00 0> £00 0> €00 0> €00 00— - €00 0>]= - (& L F L0015
200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> 200 0> AL S| 665
G0000 0> 0000 0> __G0000 0> 50000 0>[- - 50000 0>]— - LA LT L 865
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>]|— - 2O 4 AL | 165
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - O 4 A7 | 965
2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> 2000 0> |- 2000 0> 2000 0> AT [ > 9657
100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 00— 100 0> 100 0> A=A I
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 00— - AN — O | 665
G000 0> G000 0> G000 0>|— G000 0>|— - G000 0>|— - NI EEEVA 5
G000 0> 5000 0> G000 0>|— G000 0>|— - G000 0>]— - NW—AfcAOL| 165
- - - - - - - Y\ ¥ £ 0 Z]063] |
6000 0> 6000 0> 6000 0>|— 6000 0>|— - 6000 0>|— - ~J X A0/ 688
G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0> G000 0>|— G000 0> G000 0> N —0 4 £ £ L]88%
£000 0> £000 0> €000 0>|— £000 0>|— - £000 00— - T L LA L L8
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AT 07 098]
2000 0> 2000 0> 2000 0>|— 2000 0>|— - 2000 05— - YL £ L] G8%]
€000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0> €000 0> £000 0>|— £000 0> €000 0> N —n 4 & L] V8%
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|— - YA
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - NI YA RIA I
10000 0>| 20000 0> 20000 05— 10000 0>]— - 10000 0>|— - (AVd) ] —=J~=][18%]
90000 0> 90000 0> 90000 0> 90000 0>[- - 90000 0] - (ddIN) A F£ <= £]08%
- - - - - - - LT (=L 6L
€000 0> £000 0> €000 0>|— €000 0>|— - £000 0>|— - (OINd ) LAL L7 = £]|8L5]
1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0> 1000 0] 1000 0> 1000 0> (dAdN) ~KEL£o] == 2| L1%]
20000 0>| 30000 0> 50000 0> 20000 05— - 30000 0>|— - =0, F £]|91%
G000 0> 5000 0> G000 0> 5000 0> G000 0> 5000 0> G000 0> 5000 0> G000 0> G000 0>|— G000 0> G000 0> O X oA SLa]
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - LALLL (A|VIE
20000 0>| 30000 0> _ 30000 05— 20000 0>~ - 20000 0>|— - AKLAT LG (A ELE
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - AT =k ZAleE
70000 '0>] #0000 0>] #0000 0>] #0000 0>] %0000 0>] #0000 0>] #0000 0>] %0000 0>] %0000 0>| #0000 0>]- 70000 "0>] #0000 0> AT LA LA T
- - - - - - - A=t 7 Z |03 |
10000 05| 10000 0>[ 10000 0>|- 10000 0>|— - 10000 0> |- - Y Moy A | 695
G0000 0> 50000 0> __G0000 0>] __S0000 0>] 0000 0>] __G0000 0> _G0000 0>] __G0000 0»| _G0000 0> _ G0000 0>]- - 50000 0> 1 —c Z£y/[89%
£000 0> £000 0> €000 0>|— £000 0>|— - £000 00— - Syoo L L[L9%]
9000 0> 9000 0> 9000 0>|— 9000 0>|— - 9000 0>|— - 2 (AL (995
100 0> 100 0> 100 0>|- 100 0>|- - 100 0>|— - N— £ 47 (| 99%1
1000 0> 1000 0> 1000 0>[- 1000 0>[- - 1000 0] - (ddQ) FAO 4 (| 19%]
100 0> 100 0> 100 0>|— 100 0>|— - 100 0>|- - EEYARIEE]
2000 0> 3000 0> 2000 0>|— 2000 0>|— - 3000 0>|— - (O dIN) LA LACL| 5950
G0000 0>| 50000 0> _ 50000 0>] __G0000 0>] 50000 0>] 50000 0> _G0000 0>] __G0000 0>| _ 0000 0> _ G0000 0>[- G0000 0>] 0000 0> K GG Z L] 195
00:6 00:6 00:6 00:6 05:8 00:6 00:6 - 00:6 00:6 [ZECH
H8H6 HSTHS HZIHS HIZHL HOHL H2oH9 H6H9 - HSGHS HVIHT H b
[GFS 3 Y H6 H S8 H L H9 HS Hv SN
Fougss T (AL Gl S SR (1/3w) ¥ M e

219



@#HFTH

BRI
K4 KRS SREENIRE B 7
A AFEBOKRY; | AP | RS | TEE)NBOKS | A VK | 85 il AKm | % R K i
BOKEH A 12H7H 12H7H 8H11H 12H7H 12H7H 8H11H 8H11H
PRAKREZ] 11:10 9:00 11:00 10:10 9:00 11:20 9:30
ELEEN i i 5 i i i i
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w6 |72 U vk (mg/L) - - - - - - -
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